o Lair 443K-80 GalLliLGEHS ﬂ%%n
ST @Q‘I‘Lf{ﬂa@] Gumﬁmqu_.

o srefwd  BubSy. "
GuITmeTTSL UWALGH DS Gsffwtb (C). SiLir Hysq
QuTeney  ugb@WLELTE!  SUSSTILE BeLowoTEn (C4Hs()z_) (1?) 82&»_ GT&,W(@:E,‘QQ]@‘ to
Bsio (A) g8 ot HiSO4 2L 413K-60  GauiuiuGHE -Gﬁ‘ITI.Dl‘.D leoO (E) -
QETReHHnE oy (A) (PH0 (E) oueny 2_6iem CFTOBISmEN S sELPHE e Doty

S1(10&IE.

a) An atom crystallizes in FCC crystal lattice and has a_den

length of 100pm. Calculate the number of atoms present in
(OR)

b) An organic compound C;H¢O (A) heated with Con H,SO4 at 443K to give an unsaturateg
hydrocarbon C; Hy (B), which on treatment with Bayer’s reagent to give compound C;Hy0,
(C) which is used as antifreeze in automobile radiator. Compound (C) distilled with ¢qp
H,50, to give cyclic compound C4HzO; (D). Compound (A) is heated with Con H,SQ, o
413K to give compound C4HyeQ (E). Identify Compounds (A) to (E) and write equations,

sir H2504
PETBESDS-
(C) GCaBssnd-

b) C;HsO (A) gy &flod Baiold
gt @gramiusy  CoHy  (B) 8
sfmmiu@ss Gsnod C:HeO:z
BrpBui Lisefss 2 eop aBT

sity of 10gem™ with unit cel] edg
1g of crystal.

. Geu.oafimabigr, WA MNPl B.EL,
pEsDRS il
- 9677558960
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Freold SETal 15 Bufll Bissn + 3.00 wend
Time Allowed : 15 minutes + 3.00 hrs

wrrg‘;l-rﬁ elembgnet 2019 - 20 / Model question paper 2019 - 20 - (1)
Gusbplemey @yexn mb suem® / Higher Secondary Second Year
o uilfiwsd / Biology
(30 wipih gyhdeon ed / Tamil and English Version)
Quorgs walibLsssT - 70
Maximum Marks : 70

sfIEst : 1. omaiss elonsseph sfiursl udand o smen asugma  FAUTTSHIS

Qarsiranayib. sEsiLH  eopuplls  owns sersteRiluTTiLD
2 | ampuwnad OoMalldse)b.
2. B (Soeg) Heiy sowulmer GG aWEHNISIGD SHgbEHTIBMSHGD

LWSTUBSS BrusRiBID. LILmimsi susnyausne Gusidled UwsIUBSSaLD.

Instructions : 1. Check the question paper for faimess of printing. If there is any lack of fairmess,

inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.

@iy - ugd — 1 (eulf-srageius), UGS — I (e_uif-efsvidlwsd) Haildhseal
ellent_g@Hremsd ellsnLweilbaaid.
Note : Candidate should answer Part — I (Bio-Botany) & Part — 1T (Bio-Zoology) in
separate answer-books.
ued — I (2 uif-preuyefiwso) / Part —I (Bio-Botany)
(w@iGuemast : 35 / Marks : 35)
Ufley — 1/ Section—1

GIlY - 1. oEnasE lemssamb@n el wefldsaib
2. QEBssiUlL BIEE eloLsalsn sab giymLw slenLenwsd CHTHLHBHH!
OB GLa sleoLullsnemun GarHE sDEIS.
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

8x1=8

option code and the corresponding answer

. EpauGRKDOE S Gm HIST QUEEEEHHE Homss D007

S 2 HaNGSIUBD HIeuNBISsT @b WJUGDIETT LISHILS6NS QansiigmsEHID

@) SUTUSIHHG 2 I UBSSILLBsTeT HTEUTHISEmET GuEpsSILEHLWE Gl (pgud
@) fav sowhseisd eliHDUSSETS TG WIBOES6T ool QUelsimen

F) GRTUISND SHTEUIESDET o _mEUTHS (LPIU|D

Which one of the following is not an advantage of micro propagation?

a) Plants produced are genetically identical

b) Endangered plants can be propagated

¢) Sometimes undesirable genetical changes occur

d) Disease free plants can be produced
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"
Speumd aphm Cui@s mGsst Gyl fsags Grrg/Hac [11)
s' GGees!
3'CCGGS' [ & 1Bg meLOumh GewsdurtLisd BupiuBdeaman??
a4)

1)
G GC C
IC GG G C CGG

+)

b
G GC G |
c C G G ccC
ccC GG
which is the sct of fragments obtained by the action of Hae 11 restriction enzyme on

5' GGCC3
‘[3CCGGS]’?
by
l (ICC G GC C
@ i C GG

’Gc' | I CC
IC_|_|G°C, cc G G

RNAI afsz $803 om selmowndsiurL wpeorg
o) gremiBlo  RNA, RNase-ll Gprflsenmed 9@ @relwrsr @eoLul @ RNA

USULGSSULBEBI.
@) si  RNA-Gmst  aloveieyéal sl QUOUTGST, Abssoter  RNA  gmewn

GeusiliunenLsuengssh HBEGW a6 Semwlurar RISC @ Geaussiu@ssme
@) (@) whoD (&) BTN DD,
#) CRISPR eignib iojugmisnsy Fiaflanswnsgo o usramb GsrésliuBans.

A simplified model for the RNAI pathway is
a) The trigger RNA is processed into a short interfering RNA by RNase II enzymes.

b) si RNAs arc loaded into the effector complex RNA - induced silencing complex
¢) Both (a) and (b)

d) The gene editing tools such as CRISPR can be loaded.

Spaupsuaiaubmis ahe FaIH BEIY SENBANSEEHAS Fhwurear LgHmess?

1) Bmev6T o) Uil gy
Gouit  guremilHH60 & ((HOY(HEHET
! v
g;frg‘]mi@d;anrh [ﬁrl[i]g]]*@&éﬁﬁi]

GUGITENI LLLIT 43 5y B60 CUSHEILDUIITES G 560

@) Beasvard

LGOS BaEensT  HTemiHHe0

Geuir @iaﬁt@g,au
Eﬁﬂmllll@f’&ﬁ“

6L GTENLOLLIN (S H60

BosANG LrBogHe

Which one of the following is the correct steps in the direct cmbryogenesis?

a) Callus
¥

Root induction

Plantlets
v
Hardening
¥
Transfer to field

c) Callus
* - -
Multiple shoot induction
Root induction
v
Plantlets
Hardening

\j
Transfer to field

Uif gy
HIB
+
k'S
LIsV W@&WTQJ HER HHEV
Beuit  gnam(HHe0
BB hbwst
GUGIIEDLLLITHEHEHE0
HeobHBMne WiDpHe
b) Explant
* -
Embryoids
\ i
Plantlets
v

Hardening

v
Transfer to field

d) Explant
Stem
¥
Node
multiple shoot induction
Root induction
¥
Plantlets
¥
Hardening

v
Transfer to field

Bpaumausmaupampti Guimbd shure el HS

(i) uFEMIDE SHNITLIGH

- (A) Qgnfsd tHwrs 2_haunbaliuBin

Scanned by CamScanner

— e e E1BEeNs CabaiuBD 1IN
- (B) susfwsiLsudgiso Guif@&slBIE HTILSH
- (C) Ggreoguii sy afiGUIGD GsflasUUBD STUes

. (D) 2_ulitd GmnenpHed GHfbasludn BHTUsH

(i) onbus suiush
(ili) Pev emirugh

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 83&4933377

(iv) ugguy mirush

163


https://www.padasalai.net
https://www.padasalai.net/
USER
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


®) (i) B (i) C (i) D (iv) A &) () C (ii) D (ii)) B (iv) A
@) () B (i) A (iii)) D (iv) C ®) () D (ii) € (iii) B (iv) A
Match the following and find the correct answer
(i) Green carbon - (A) Carbon in industrialised forest
- (B) Carbon in atmosphere
- (C) Carbon in fossil fuel
(iv) Brown carbon - (D) Carbon in biosphere
a) (i) B (i) C (iii) D (iv) A b) (i) C (i) D (iii) B (iv) A
c) (i)B (ii) A (iii) D (iv) C d) (i) D (i) C (iii) B (iv) A
6. Fpapaaanpst abs gem SEENOOY CFNIFISTEN DIWSEILE SHreurih?
S wrad. Cuyr Bengan &) gBamiaflur dgneniustd
@) Qareunend enpETD #) snflenflusd ggrggruT

Which one of the following is an alien invasive species?
a) Mangifera indica

(it) Grey carbon
(iii) Blue carbon

b) Eichhornia crassipes
¢) Solanum nigrum d) Zizipus jujupa

7. Sbp (A) anu aufienss Gaielsr cwpeuid Gupiu’ . @ystwreng  gBy S gsiienioany,
DIBHOTBS G ewig hdAng.
amemd  (R) uredeor  @eICUmSSID sz sapanf  @alCUESSD aApsvlh
anuaflenss Bgiey Saurkiser 2 Buss GeunuiuGasise.
&) (A) sf; (R) seoum <) (A) sam; (R) &
B) (A &f; (R) —A - eow eflsnsmsisosmen ) (A) #f; (R) — A - spw
alen&@Sng
Assestion (A) : A variety formed b
with respect to all genes.
Reason (R) : The pure line
method.
a) (A) is correct; (R) is wrong
) (A) is correct; (R) does not explain (A)
8. ag @afiT weiiLsol Lpb?

y pure line selection method shows more homozggosity
plants are produced by asexual method or vegetative propagation

b) (A) is wrong; (R) is corrt;ct
d) (A) is correct; (R) explain (A)

&) oT &) ueon B8) suremip F) oamillp ayulndleir
Which is the temperate region fruit?
a) Mango b) Jack ¢) Banana d) plum
fley — II/ Section — II 4%2=4

ICpad BrenE elambsEnsE slenL el sayb,
Answer any four of the following.

9. BrewiB  GCumsldmEnt  smUsHL
2_mansssHelmhbal CounuGHmis.
Differentiate bisporic megaspore development from tetrasporic development

10. ushseflen wBWD el GLisnsugfiwr vemiysaflel  ummbufued  Guosiieden  LmpbuAL
wpenpenw eupmellsiensy gei?

Inheritance of chloroplast and mitochondria characters are
why?

1. CACwBssd 2 fus@ulsn Gk PLL ULGMS aI)s
Draw the flowchart for triticale production

12. od@runsiefiun  wupdBudusied  wyugm OTHBESHD G pebe  Hids  HLGHU
QFusILGABLH. Bspaten ENembmss GHUIGS.
Agrobacterium tumefaciens is a good vector in gene transfer, State the reason for it

2 Gadbehns  BIEEG Gumelbmient  sELOU

non-mendelian inheritance Pattern.

164

e op & UTESTUIBE s gar BIb L OwsHe &b, utbmanld Helagmd Di0NE
s&Cyret SyFluer GsibalGmmb? .

Why do we add dimethyl sulphoxide, glycerol or sucrose before cryopreservation?

14, GRBMOUIWE LRSS (0SS,

Write the ecological hierarchy

Ufley — III/ Section — III o ' 3%3=9
gea@mb wam alanssemse aloLwel ssupfis eiam sai-1858 SLLMLLIS
ellenL 6T &SR, ; . .
Answer any three of the following in which question No.18 is cornpulsory_. . et
15. opHobsramrulsd usBap Ep  weoiEsh  CmTEIDIOIE wyugbseis  UDSCETBD
. i : i [iLglst elenE&S.
SeolIBLWSTY WILgMbEET SelLHms. BHEMET '
The different colours of flower Miabilis jalapa is the result of blending of phenotype not genes
themselves. Explain it. ) ] ) )
16. Geuerbl e ghPGWEIY Bsrmensy eelsT (ELISA) Gangenenen el & FADHBH sTeusuTDl
Western blot test is more perfect than ELISA I-_Iow? o
17 e_ulflwed sl GhsTipsst esiprs e’ m@gﬁ@ﬁ&ﬂll_(ﬁ HHES
v g . e
What is referred to as biological indicators? Give an c:f.a_mp e
18. sbsTemssisd GBS aWeLH6sD SBFTT Gn HHITEE (PRUTH o ulflend eeh’?
Now a days Azolla is an inevitable organism in paddy field. Why" g
19. SOEEIE Srs, GLhEG SNUFFRISE HecGeubenl 9O WLHBSTE LYBsTFMEN L8
B DHHHN WESHUSHASMS (LIS o o
:I? Govt suggest Nilavembu as a medicine for Dengue. Write its medicinal importance.
Ufley — IV / Section — IV 2%x5=10
S\pHHTERID sﬂmn&.&.@é@' slemLWweTSEa|LD.
Answer the following questions. _ oC. Sk
20. WEABEHD  STUTRISEHD @mmf@@ S
GuiesTsdsmen @i aBHHISST G @gﬂm;zn ellsna@S.
(a‘d)mgl - - . s . - .
VUeeminisi Boomssamre Geemiy LHpD slssk SIDFESDET AR HHISBTBHEHL
aNeNH G 5. . _—
Insect?and plants are leading commensalism type of life. Explain it w ith an example.
(on)
Explain coupling and repulsion aspects of linkage Y\’l[h the help of examples
2l aupsiL Hevssraurrisaien LpsCsTHn 5_5611“;'5“!45@“ STDBHIB.
(amw . - o
QM GIPsH EHILEVHSAS Ly BHened 2 pusHsHpaiseni upl elansEs.
Write the morphological adaptations of xerophytes.
(o)
Explain the different classes of productivity of an ecosystem.

UMDEEHBMUL

ugd — I (e uifi-cleomaluet) / Part — 11 (Bio-Zoology)
(w@liCueisstt : 35 / Marks : 35)
dfiey — 1/ Section-1 8x1=8
j i silssayd
Oy 1. oeneps slanssEe@d el ‘ .
e 2. GEr@ssuulL BISE slepLsefisy Bsab giusLw slsnLemub CahEabBHal

GO GLsh sllspLuflsnemud BaihdH NPTIS.
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Note : 1. Answer all the questions F
2. Choose the most suitable answer from the ¢ Liveh four alternatives and write the
option code and the corresponding answer
I. Epumsusaubmet abdh PEm sMOIE Gamiaid IUD —eowd ubpfw Lm@mynﬂ,
suTBaAIWD? .
21) Sieusel eHILIL slBubBHed LauaisnluBhh B st
<) oimeussit smUsnLIdigst 20 HANbSapdhH Cuwavis Bmhbds (WPRUD
@) omass abs Croedd BaTaa UsalaIULDHEHIE Tmem
F)  Dineudbel SHMmEYDHE WADBID SHUWPL ML HLHHUUESE HaDaysms
usvsisnILGHHIE & per. ST

b s A

Which one of the following is true regarding copper releasing 1UDs? AR
a) They suppress the ovulation

b) They can remain in the uterus for more than 20 years
c) They suppress sperm motility e

: "I-‘

d) They suppress fertilization and conduction of zywote.

2. 9o afGomisium =yen, GanrBTamFsst wy DiTOUY  2_enlul arlﬂrf,lm (@uJ'nun

Cusiiensml  WsMGBABIT.  SENBEHHES Upa@le  GWHmesst oleileunm  Bwé
FNGHBEQET 2 siiman?

9l UEE (IDBHNEET) FTHTTLTN YT Hsll PN GUSNIBST (L0BaNBsH), '
uTALILE @ s sal T
&) WEHIEST UTHIULS SHeenTaieuisel, QAT LoHaiEam FN BN DTMEUTSENE
Bmlumirse. -
@) s WHID WeNEsHT BHaUFBL FTHTTHICTTAUTSMTS @@LIUF[fI&';&ﬁ ‘
#) WSS WHDID wesMss @maundic 3150l sans @@uumaam BYRINGD
waaMest CBTiIGh BHThEEMTE BEHUUTTSS. o
A haemophilia man marries a homozygons normal woman. What would be the possib
condition to their children?
a) Sons would be normial but daughters would be sufferer,
b) Sons would be sufferer but daughters would be normal w
c) Both sons and daughters would be normal. )
d) Both sons and daughters would be normal but daughters would be carrier.
UAA, UAG wimib UGA sydlw @5 IGaaisn (Ga1_ta) Gawed Guut
) PmsHsed CELnsisen o) Guimdy BmILnsissi
@) (o) wpmb () #) GHTLdd BaTLrids
UAA, UAG and UGA codons are designated as
a) Stops codons b) Non-sense codons ¢) Both (a) and (b)
. SpsaiLsupey CUIMHH ST alanl e b BT
(i) &meopm

d) initiator codons

- (A) epdBsT UThf s
(i) oL urif - (B) efiifGur
(iii) 1l fwm - (C) airdadl ut

(iv) yBunais 7Bmd,
a) (i) B (ii) C (iii) D (iv) A
c) (i) C (ii) D (iii) A (iv) B

- (D) @a1dad widtat ni
b) (i) B (i) A (iii) D (iv) C
d) (i) D (ii) C (i) B (iv) A
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Match the following and find the correct answer

(i) Cholera .(A) Mycobacterium
(ii) Typhoid - (B) Vibrio
(iif) Diphtheria - (C) yersinia

(D) Corynebacterium

GREEN GARDEN MATRIC. HR. SEC.
SCHOOL

(iv) Bubonic Plague -
a) (i) B (ii) C (iii) D (iv) A
b) (i) B (ii) A (iii) D (iv) C

)C (i) D (iii) A (iv) B .
fi)) ((',)D (i) C (i) B (iv) A- Perundurai R.S.

5. Zpaupaeaupmet sfwrer G a5’ PH: 9486379461, 8344933377
’ o) angaBemmaroCurfle GrTiEEBUUTBDSE §BHH

) allsrod - GEIHssmbGLULL FHITLmd o
@) eroCLLigenabei - @rempsHa @HEnHEHTAT BsTena LM BHDHT
F) GUUT ud - slGufiu Y&FF

Which one of the following is correct pait?
a) Cyclosporin-A - immunosuppressant

b) Whisk - fermented grape
c; Siat'i'nsy - lower blood glucose level
d) Superbu - Giant insect I
6 a).;bup(A) gan;msmwns Fh@EE Bsssdsh aLwugat GusaLat - smudb Halitde
l asmgeh (R) : Qasdmel, GensGatamamn ABEHIb GaTadaudis man LT & B3

o) (A) &f; aqemsd (R) @aum
o) (A) o syaned (R) &f
@) (A) u:gum;w (R) @em@Bo #f muemst (R). A-mwu alandsalsans:
&) (A) u:m;gnb (R) @gemBB af (R). A-snu slensgE us.
Assertion (A) : Normal secretion of insulin prevents diabetes mellitus
Reason (R) : Insulin facilitates the cellular uptake of glucose.
a) (A) is correct; (R) is wrong
b) (A) is wrong; (R) is correct
¢) Both (A) and (R) are correct, but (R) does not explain A.
d) Both (A) and (R) are correct, (R) explains (A).
7. andmhar Gxdw yrsr @b s_ﬁrﬂangs;ﬂmmm mg.ﬂﬁaﬂ_uu und

1) fkisD &) WTena @) yal &) ibwmpd Gaoy
STEILTOHSID

Kaziranga National Park is protected area for ‘

a) Lion ¢ b) Elephant ¢) Tiger d) Horned R“moccro.~

8. Speumsueaupmiet ag §BsTs Giplenu JUUBHHNE Gurhs s : .
) g GSsnn@yrunib Al BTLed GLL)TS

&) oan Grr @8mnGyr yGmByn &TTusIEHS +) Bl at endamaed
Which one of the following is not a ozone depleting substance” |
a) Methyl chloroform b) Carbon tetrachloride

¢) hydrochloro fluorocarbons d) Nitrous oxide
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20.

21.

. aflumgged — B — e syfehsmen spsis.

. eGunoGLrOggeended - g @PIIGL SESEH aumIULD s

- 90 sdbur spp  GuitpTiemes, STAOWT GEE@s Unsdng. STedb

. 2 gall Oupib emnpsmsulsdmhe LSTha ampsma CapuBsss

. gally Bouemeienn, 2 uifwl MBS S Gamag eauTg?

GREEN GARDEN MA
Perund

Jifley — 11/ Section - II PH: 948634946
gBsgud ErenE elamssenig el weisaab. --
Answer any four of the following.
abGUTBITGeTui GEeiadmha WBITBsTui Gamen BapubHsis
Differentiate merozoites from sporozoites.
ap@lssd o mansssdne, aeagleuwuneg  H Gl QE@HU(BMUJH _
QFWRLEEDEH. Ga1? &%
Scrotum acts as a thermo regulator for spermatogenesis why?

Write the symptoms of Hepatitis — B.

Bupms Gaemaiiamwwis (psdw Hbsuse gBsmid BIHIQMman S1pSIS.
Write any two key features of organic farming.

gefFeniiussd o SEPSalILGuE wrg?

What is called positive phototaxis?

yemstuafiured goueh e ulfu elemsmeysemen sipgs

Write the biological effects of smog?

Ofley — III/ Section — III 3%3=9
gCzgud waip elanésamss aloiwsl sobmdsn olam aab-1868 SCLIMLILTS
allsnL wefldbaaub.

Answer any three of the following in which question No.18 is compulsory.

Draw the diagrammatic representation of spermatogenesis

Gprenpieughatsn F1hHLsbmmENT alendEayL.

A thalassemia baby is born to a normal non thalassemic parents. Explain the possible causes
for the occurrence of thalassemia.

ol O Hdlsens wafip QU ETEDES Bluseh. Gsmen S0bHsIn (LPEMBLING
allend@s.

Stem cell therapy will increase the longivity of human life. Explain it logically.

Differentiate mutualism from commensalism.
Intensive agriculture results in reduction of genetic diversity. How?

dfley — IV / Section — 1V 2%5=10
Epsangmid ellmmbsabg el welssaLo,
Answer the following questions.
CoBmOTBn Gurmhamensd seinfw o safu geaufl @upelafer Syuiedenen aflends
(Ste060H1)
pmamaGaet  DNA, Grms oiFdled Qrucmwopss sSussaors  alamedns
siaiuemg allends?
Explain the transformation experiment of Avery et.al.,
(or)
Satellite DNA forms the basis of DNA finger printing. Explain?
aptng — el@iGuis Gatamaulss SR smefias wWiame? Siupenp  allenaGS:
- . (&mﬁl)
ubm Gprews HEUUFD CrriSSEILTEDSE LEidamar allendgs.
What are the assumptions included in Hardy Weinberg Principle? Explain them.
(or)
Explain the role of immunity in prevention of cancer.

. HR. SEC. SCHOOL

rai R.S.

168

1. fpamaaanost abs osim evGudrrCursiaisr ubiw Lsﬁi@wm@ng m‘m's_ﬁu.lm?

o) eoBurCrmGuredsilsh o mars wEIhHHHEeNa  F GLMilmigd WD
Uise s almE!

o) B8 werpsssmamm alufss owns sressRelnbal ungismuuet SEDHI.

@) swBurByreunedefs, . souGsmisdaiaaiedmbsl CuBLLLL G

®)  Qarogult umsiugasals WLEIHSHHISM BERHIL ST UTHISTUIUTS Boss B
2_gaEng. _ ‘

Which ane of the following statements is not true regarding sporopollenin?

a) Sporopollenin is contributed by both pollen cytoplasm and tapetum

b) It helps the pollen to withstand against strong acid

¢) Sporopollenin is derived from phycobilins

d) It helps pollen during long period preservation in fossil deposits.

, 8344933377
wr@f eflemgsren 2019 - 20 / Model question paper 2019 — 20 - (2)
Gueplensy Brewimb syem® / Higher Secondary Second Year

o uifwsd / Biology
(B0 whmd hHsob e / Tamil and English Version)
15 pflLmsst + 3.00 wenfl Qurss wHUGUsHIEET : 70

geoLd 2iensY : .
Time Allowed : 15 minutes + 3.00 hrs' Maximum Marks : 70
yﬁmmgﬁsﬁ: 1. omasgs olansésepd FluteEl uHend e siengT LS Fllundgs
QsmeiTemeyLD. oFsiLPs  GopUimilsr  oEps  senstERiluTTALD
o Leanpunas Csfalésab.
2. foob (oebeug) smUy emoullensy L GEW SpEINEDGID DIgsECETYHSDESHID
LWSILGESS GastiBh. ULREST susnraugng Gusids UWSTIUBSSLD.
Instructions : 1. Check the question paper for faimess of printing. If there is any lack of fairness,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
oy : ued — I (eulf-sraursiuie), ugd — I (e uifl-elloomiedwsy) safboeal
allanLdonefsy eflenL weilssaib.
Note : Candidate should answer Part — I (Bio-Botany) & Part — II (Bio-Zoology) in
separate answer-books.
ued — 1 (e_uifl-graugsfwsd) / Part - I (Bio-Botany)
(@iGuetiEst : 35 / Marks : 35)
fley — I/ Section-1I 8x1=8
@iy : 1. oevess Namssars@n sl wafldbseyb
2. Qer@dssiu L Breg sl asiss Bsab giymLw alsLmud CHTHeSE5S!
Giul GLsh allen_uWilsnenyo Csibs sWQSHIS.
Note : 1. Answer all the questions

2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer
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i

2. eush smgab HrasHed sl agab wHmD STISHME 2 wnd sy,

UsLBEEAMLOL § @musiis SO0y QFISTH, 2 @sEG BIOILID DHaF &I,"Dg,ggi

9:3:3:1 aiigd UDSEHTHE eldsh SmLdEGLoT? 5

o) b, gomalsd smausst &N @HRGD DJUGENISSHET

&) Bevensy Sinausei LanemilB@LulL  DJLGISESEN

B) qub, gomaisy simeausen QeusuBamp GEIMBLTGFTbEailsd DienHHIsTET6N.

®) @eemsn, BT Bbs GIeNE UsUBELSESML_CW Crrmess GFUW Wpgurg,
If you do dihybrid cross in Pisum sativum on the traits of pod shape and plant height, Wi
get 9:3:3:1 ratio in F2?

a) Yes, because they are independently assorting genes.

b) No, they are linked genes.

c) Yes, because they are situated on different chromosomes

d) No, we can not do experiments on these two traits.

3. Spaumpamaponl CQUImsS slwuner eloLsnws STeRHs

(1) QuemiLTBFmA - (A) — 2n2
(i) @yienL wonGen@sma - (B) — 2n+1
(iii) meLedCamLo - (C) = 2n-1-1
(iv) ey Bams - (D) — 2nt3

&) (i) C(ii) D (iii) B (iv) A &) (i) B (ii) C-(iii) D (iv) A
@& () C (i) B (i) A (iv) D ® () D (i) C (iii) A (iv) B
Match the following and find the correct answer

(i) Pentasomy - (A) -2n-2

(ii) Double monosomy - (B) -2n+1

(iii) Nullisomy - (C)-2n-1-1

(iv) Trisomy - (D) -2n+3

a) (i) C (i) D (iii) B (iv) A b) (i) B (ii) C (iii) D (iv) A
¢) (i) C (i1) B (iii)) A (iv) D d) (i) D (i) C (ii)) A (iv) B

4. Bt s58f _(A) —m LvwWALESHS o mamHEILLL g Ba _(B) -s@ adfgre Grrul

aRATILSHHDD OBTeRIL Gl

3) A — a.Gzsme, B — smeuyerd

o) A — eneugerd, B — unsefwurdssh

B) A -~ oByrunsedwb, B — urdlsvaverd

7 A — oisCrmuréefwn, B — GleoABL TG ymed

Bt Brinjal is produced by using _A and is having resistance against B.
a) A — E.coli B — Virus

b) A —Virus B - Bacteria
c} A — Agrobacterium B — Bacillus
d) A — Agrobacterium B — Lepidopteron
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5, dpaenappe abs gép PR ubfu o siswwrer arsadun?

o) sEElplUTMGHES SEummLL QFTSHa0 iy o M o _sieng.

&) IPR ediug oibs e HubduGuImsT Goukushsren GQFuUPMpIL £ 6L HEIWLE
QTR0 DGHET cueEles TEFGmES DO

@ IPR — sibs BTigs FLLBIGMTED UNGISTSSUULL SHE060

7) semBlglurent osummLL  seaBliglemn & Cemhs Hoeassng ol Gowo
LWSUBSHE CENETEETD SLamsd ST DIMS WLHDATSELEE alME (PGUITH.

Which one of the following statements is true regarding IPR?

a) The discoverer has the full rights on his / her property

b) IPR —includes only the process of the product not trade secrets.

c) IPR is not protected by laws framed by the country

d) The discoverer can use his discovery for his own company but can not sell it to others.
dpsumsueneupmisT b5 gam 2 ulll yFds Gamsoed?

) oB&FTe0n &) eyBamiunb @) duyeifium F) Gemeflwim
Which one of the following is a bio-pesticide?
a) Azolla b) Rhizobium c¢) Beauveria d) Hevea
SpaumeusTaupet abs geim Flwbp Senem?
i) WEhFsiT - #Bor(®
&1) geuESMI - BOILeTUIGUTHL SeTiledr mmemil
@) gluir - Besyemm
) suTamip - @bAwreien Eahdlwdsef
Which one of the following is an incorrect pair?
a) Turmeric - Erode
b) Cardamom - Queen of spices
¢) Rubber - Kerala
d) Banana - National fruit of India
. EpaIGeaIsTabmsT abhs @I WwehFst Emorens CEMUGE siTel LLALESSILEGHNH?
&) Bsu@eilby ) guiwbd utd @) &ehaT F) . Ls0s0mh e
Which one of the following is highly effective against jaundice?
a) Nilavembu b) Opium poppy ¢) Marijuana d) Phyllanthus
Ufley — I1/Section —1II 4%2=8§

gBogID TG elanbssense sl welssaub.
Answer any four of the following,

- Woosdmp  Geuenmedl  HIeupIGET  @WSLTE  W@mBEISIN  LweR Hreugrsated mbol

Goumin_Lemen  srsusun?
Molecular farming plants are different from natural medicinal plants. How?

- BEHWY Sreuys snl Liusellel DL ULSHHMS euenys

Draw the diagram showing altitudinal zonation of vegetation

© LLGD GQFuswepuls o sl LGRS aIpSIS

Write the steps involved in the mechanism of decomposition.
2 uifl o pores QEusiLGh o8sriugms s@FranelBmb CaupubHoie
Differentiate Rhizobium from azolla as bio-fertilizers.
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20.

21.

wrugnenp sund Crsfhmed aEmney eeviem’?
What is known as germplasm collection?

S Lulsl UWeTSEneT  s1(pGI%.
Write the uses of coffee

Wifley — 111/ Section— 111 - 3x3g
gBsgib  apsi@  elEMESELEE eleLwell  ssubfsd allem  el6mT-185@ E'L'L"“-llm
allenL_wieflésajb.

Answer any three of the following in which question No. 18 is compulsory.

wIBE  GoESsME samouledmhs  uT@bY  SEILUGSHSHID @munsd mmnag%
BoupuEHHIS.

Differentiate heterostyly from herkogamy

aUFID sMgeud HTeu] leoTEefsn emsr Bpled Garemaugds WIUERISS6s UEiggyg,
&6 & S.

Explain the role of genes in the formation of purple colour in the flowers of Pisum sativum,
I 2 _uifl 2_aneumavstisd (QBTHHH60) BubasTed UBLUBHSHID ey
LwEUBSSIULTAI LTsy Comeimub o _pmubd GuImLsst B esien HLEGD?

If the upstream process is not done for a fermentation process (Bloreactor) what would happey
to the product?

wyugml Gsrens aymiFdulsd o _sien apbsrr OrFdeansmen LLGWsIGS.
List out the ethical issues of genomic research

B G WaHILshH ErEmEss Hsvensubluaisd eeen BL&SGWD?

If crow is absent in an ecosystem, what would happen?

Nfley = TV / Section — IV 2x5=10
Hpsargnld slamessandsEd aenLweildsea)ib.
Answer the following questions.
uew, Quss Cafl Bmen @ensmeleinl HEaGUpID @eIGUEGSSD SHBT EEUGLGHEE
ae SEnPpSsLLGABE BHs (weonuld o mECHEIE agaHmbd HHS. -

(106051 _
BLb Quuigsy @CIMBwBsTe Umld, GuEbsppsdalcba asarpm  Caumpully
aELemS alenHGS.
A reproduction without the involvement of male and female gametes is called apomixis Give
an outline of this method.
(or)

Explain how translocation chromosomal aberration is different from crossing over?
Beolugiy  eugeuenolys  &Mysmisst  obsluGHulst  slu Geulu
Fnonafsdma. ellsurd

Bemsomd

(DI6060&1)

Guansst, grasst wHpw FOUS Srasdt Osefarar 2 eof Ggellaner il 2192

GaiubEL e sreluBGEng. Usl GailuwsmLgme sl
Topography influences the climate of an area — Discuss.
(or)
Clouds, dusts and humid nights are warmer than clear dust free dry nights. Discuss the globil
warming.
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ugd — II (e ulfl-efeotudwsd) / Part —I1 (Bio-Zoology)
(ogliCuemiseh : 35 / Marks : 35)
ifley — I/ Section -1
eiuy : 1. smadg elambsenb@n efla welldseyn
2. GerpsstulL BraElg alenLsefsy Wsab ghysmLw slsLaws CabEsBHa
G BLe el ulemenyd CFrss 6(105HIS.
. Answer all the questions

8x1=8

Note :

—_—

2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer
Wenmerb@on@Lmd eraiiug

o)) gaenp o La@m GubBorr Vemeybp @ret® oooD 2 Lem e ulfluted CHTIMISED

U 2 rempeeiw  GupGprr  deepmp  Bredd gmem 2 Ls®p e ulfurss
CamanmimHen.

@) u o Lasme_eiw QuBBpTT Heneybp Ue heB 2 Lam 2 uifluted GoHTEIDIHD.

#) U 2 Laprelw GuntprT Semabpm um 2 LaGme eiw um wse 2 ulflsmss
GamenpiEHen

Plasmotomy means

a) Mononucleated parent divides into two Mononucleated individuals.

b) Multinucleated parent divides into two mononucleated individuals.
¢) Multinucleated parent divides into many mononucleated individuals.
d) Multinucleated parent divides into many multinucleated daughter individuals

. dpsmiLapmn Gurrss sfurar alaLows sreams

(i) Gsr@emhwr - (A) 10 - 90 B BN

(i) Hpe - (B) 1 - 8 wishimen

(i) ooyt wmsser - (C) 30 - 80 mm el

(iv) anflumgyed - B - (D) 2 - 5 priaen

o) (i) A (ii) B (iii) D (iv) C &) (i) B (ii) C (iii) D (iv) A
@ (@) C@) D i) A(iv) B F) (1) D (i) C (iii) B (iv) A
Match the following and find the correct answer

(i) Gonorrhoea - (A) 10-90 days
(ii) Syphilis - (B) 1-8 months
(iii) Genital warts - (C) 30-80 days
(iv) Hepatitis - B - (D) 2-5 days

a) () A (i) B (ii)) D (iv) C

¢) (i) C (i) D (iii) A (iv) B

b) (i) B (i) C (iii) D (iv) A
d) () D (i) C (iii) B (iv) A

- @ mMRNA, 2 Cspmalsdmbs Cauaiu aumashEe (W& SiFgH smysDLIS (A) -

g (B) eumed ugdwrs RNA -b Gsiéstiupdaimen.
S) (A) - ATP
(B) - ADP
&) (A) — Seorgsd GanGamenss lgenguTedBLL
(B) — smenamel. eiFFwIS6N
8) (A) — eLoenaeol. GaunGammenseal e UmedELL
(B) - @aunBamenge aFghIEsi
F) (A) - aope W8T genyutadGuL
(B) - Bongs Gaunlamamas aFFmhissi
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Before coming out of nucleus, in RNA is added (A) as capping and (B) as tailing.
a)  A-ATP

B-ADP
by A, Methyl guanesine triphosphate
I3. L(x.l'ﬁ\l ite restdues

¢) A.diadenylate guanosine diphosphate

. ¥ 1,
IJ Ll._“.mi W oS aaldls

GammaaT Gpiikals a3 BpiThstan (s sSmyeRiwnEb?

) W ATen Ll 3) USBTHI

¥ uBmCETW (Bmsnzir)

Among ithe non-mtectious diseases. which is the major cause for death?

ay Heart attack b Stroke ¢) Arthritis  d) Cancer

1 G aRTIGUT BT Ui o sTiempLmD sunbalunb?

) uaidelal b tshand Conabsd a1 TLCUNHAN

W) GLUTENI Halall 0 1Whs GaunThnd o_aen o uft eBiuQumms

) AULGIBL T 7 ST 5T WD GIUNTDD a_dien e uli aglGurms

*) f;ﬁGmm]ﬂol L3TaD3¢ bl sit. e GUGLTennAat gyfiGunBulugiad aeiim
FiemaTal T bR :L"‘)LJLI_L&J

Which one of the followi ing is not true regarding antibiotics?

a) Penicillin is a fungicidal antibiotics.

B) SLTHTUgaC (101 Hewad)

i;ljo)] B e ol Hy

b) Tetracycline 1 2 hroad spectrum antibiotics.
¢} Streptomycetn 1~ broad spectrum antibiotics.

d) Chlorotetracychne is obtained from streptomyces aurcofaciens.

9m  F3u DNA L meweL Gupsswalws GFUW  ahS . BEmfedpIL 1

LIS B HHTE ]
1) PCR Ganfeopl uik ) NMR Gamflsvpi b
B & FHBemaim GHfeuELUD F) enmsrolon.".Gunfidlerd G@mfsdpI Litb
Which technique can be used to amplify the smallest DNA?
a) PCR technique b) N M R technique
¢) Tissue cloning technique d) Plasmaphoresis technique.
Houmnen Fenamenuid HsMBLUIR
) BhH U LTINS - SRITH
B) BLANcMetH wumau} - BUTGHEOT aLlilg
2 _sisn UFHFB HBan
3 Briymi GHTILTIFIcense
F) OILBILHH BhH T
Find out the wrong puair
a) Indian desert - Guijarat
b} Trans Himalayan - Lauhala spiti
¢) Western Ghats - Andra Pradesh to Madya Pradesh
d) North - East India - Indo — Malayan bio-geographical region

- h#HT drtpsw wase whHW MEHew amy
- BhHw - wleowr - 2 uif - yafulwed LG,
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T P e

ap@ (A) : &GseT gy dmimer OaTCywrseayd yellsGarens s @suionseynd
QoweL@Asimar.

amed (R) : &1lf elosgsst saundssmssis oAs Hieney syEendiggenest
bS5@HIS Gsmendeimen.

al) (A) sam; (R) &M

@ (A i (Ry @pemiBin af

&) (A) &fl; (R) saum

(A1 mnk (R) Breiio Seum
Asscrtion (A) : Forests act as oxygen sinks and heart of the planet

Reason (R) : Forest animals consume lot of oxygen for their respiration.

a) (A) Wrong; (R) Correct b) (A) Correct; (R) Wrong

c) (A) and (R) are correct d) (A) and (R) are Wrong.

Ufley — II/ Section— 11 4%2=8
geHED BreE elamrdseEnse ol ws
Answer any four of the following
utpbflundaer Bememsala GuTgl &mHUDD (PLenL Gamsimisudlsiansy, Bmulgid
Beng BMD UTelen BeIOUEHSSD e SEPSHEDTD. geit?
zygote is not formed during the conjugation of paramecia, but we call it as sexual reproduction
why?
GIFT —wWedmpba ZIFT —ew CaupuGsHsis.
Differentiate ZIFT from GIFT.

X X X Xy
Buisoumer
SUEDITUILLD 6UEDT&.

@bss seoulsd 2 mamgh Fl & F2 saeoypensepdats:

Draw the F1 & F2 generations flow chart for
X°x¢ x XY
Colour bind

Geugluilwed uflewmmwsd GamiutieL GIuIGS.

State the theory of chemical evolution

QugzGam urseflubdla LweT o6 ?

What is the use of methanobacterium?

tpeosdpflemaser wrudm Guragk e ulfiw ustaumssaeny @WninE afaugsHEuams
BWTUOLGES5HIS.

Extinction of a keystone species led to loss of biediversity. Justify.

Ufley — 111/ Section — 111 3x3=9
g8s@ib em alamesense alemiwel Ssubfsd ellem sed-185 SULTWLNS
silenL wielé&sa|b.
Answer any three of the following in which question No.18 is compulsory.
BenFCaed e _pusduis  Gurg wndlerd Gasuiifigst
B Qupueugleoensy. SNJeRND SEeT?
Meiosis cell division does not take place during the gametes formation of drone bees. Give
reason,
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e e e - i

A : s ey
16. enpBuTenald aemILGG WiH? BEHE (PSHEWGSSIOUD TG !

What is known as ribozyme? What is its significance.

17. syisdwnighémis Lfigmme (pSALSSHIaILD wingy?

What is the evolutionary significance of Archaeopteryx?
8 gl widowis S EUUGHHID BpenmEamsT ul gwiadBs.
Enumerate the controlling measures of noise pollution.

19. g Bifa Gprumel, @Gy sdFmawer web BIbEId Hay ST DTGEE 8

Buwgnor? SiliupGwaisd efens@e.
A diabetic patient wants to have a single time treatment and permanent care for diabeteg, Isi

possible? If so explain.

Ufley — IV / Section—IV 2%5=]
Spsaergmid alaomssEnsg ellenlweafssm.
Answer the following questions.

20. waigeisy, e GSAICLHES sUMSSRTEIDMW ur]nmrﬂasa, 2 gab  ammiGuorsisas

21.

uniglenat allend@s.
(S1s06051)
DNA eaeiug gyliturgmei, opemmed Ha RNA- ujaﬂ(r_r;r,r,g.j ufiermmo  suemitFd  Quiimg
SIgUmS BumuiLBSH5Is.
Explain the role of hormones in the maintenance of human male fertility
(on)
DNA is the genetic material, but it evolved from RNA. Justify.
SAHESSHD DOEIb GUNGIFsSSD LAweamsnn Gugmpib @mmssmsrrs FnDI.
(Sis060SI) LA
Bm Fppen sl Lhisenddlen Guimen Fmtenl LGUUTIBS! 611056,
Suggest methods of maintenance of personal and public h:ygiene.
(or)
Analyse the interactions of two species population.
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GBily :

wrHf ellenmgsner 2019 - 20 / Model question paper 2019 — 20 - (3)
Guepensy @pewiLmd <yew@ / Higher Secondary Second Year

e uiflwed / Biology
(&0 wpgpb ghsoow aifl / Tamil and English Version)

grood oieney 15 BIAL ks + 3.00 wexl Qurss wHALOUsHEsT @ 70
Time Allowed : 15 minutes + 3.00 hrs Maximum Marks : 70
ofieierssn - 1. SEnaiGE  elemdseyh efluins udered o _eensT aaLFmen  FfuTidHgis

GameismayLD. oFaiLdalsn  GopUiells oeps  semstemiiumefLD
o | aiguinsd Oefelssayb.
2. deob (Sisheog) smiy sowulsen wWLGEL aWENSHSHY SipdtETGasBeD

LWEIUESS GousHiBD. ULkIBsT eueyaisneG Ousifled LWaLGSSHMD.

Instructions : 1. Check the question paper for fairess of printing. If there is any lack of faimess,

inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
usd — I (e uifl-srarsiws), ugdh — 1T (2 uifi-slomdus) saishsel
alemLgsraflsd allenLwefdbse]Ld.
Note : Candidate should answer Part — I (Bio-Botany) & Part —II (Bio-Zoology) in
separate answer-books
ugd — 1 (p_ujl[ﬂ—gmsmys:ﬂu.lso) { Part — I (Bio-Botany)
(oPQuesiast : 35 / Marks : 35)
" 9flay — I/ Section—1I
GAUY : 1. Senadhs slamssensen el weibsab
2. QENEssiLLL BraEg sl saia Weap ghuymiw dmLmwd CHbes65E!
GG simLuiensyn GFrbHEl (DSBS,
Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

8x1=8

. O@rLrFSlwrer GaupunBsEhsETe STyamLD

o)) us Wwrugpbssist ellensneyseit

&) &DOF Gpsds sllameneyset

@) uev WILEGSET LHOD GhBomn steisais alleneiayssi
) @eim obeg Sred wyugdsefs allmenessi
Continuous variation is due to

a) effect of polygenes

b) effect of environment

c) effect of polygenes and environment

d) effect of one or two genes.

. 90 Aalyssen Gues BTG Lsisoreney Geusitensn  &emt e HGITCaT. LsbsomeyL e

sifend e, Fi shsduisd Upssh widssisr UesT i

177

Scanned by CamScanner


https://www.padasalai.net
https://www.padasalai.net/
USER
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


o A

qyen s Fail ENELL

: g &
o) Guest ysdlae Geauelenst seasEn-Sl
w—r 3 6t OEHTST SN
&) e |yFFssT Asuliy S BEBL EID, Quem LESE

ETLEID

. 5 - wﬂu@lb.

8) auss wipb Guas yidseh Faly SEEOE : 3

) e HmD Cues yafsen Gesitensm m&.@ﬂ. e, the F affipeings would
When red eyed female Drosophila is crossed with white ey d

be. )
a) Females are with white eye and males are with red eye

b) Males are with red eye and females are with yellow eye.
c) Both males and females arc with red eye

d) Both males and females are with white eye.

Fi sps@duisd STeiuGh weol B S aelaUD SMNSLTS

STEuLIL(BL.

onppsorid?

. o) jyl Gurpfuiwsd apeod

o) UG BLSens @enameien apsob
8 grewLiulL &BF WIHDHD apsoib
¥ gresLiulL &ByrBwrGsmd UimC fufen qapsod
How can we reverse the sterility of F1 hybrid?

a) Genetic Engineering b) Protoplasmic fusion .
¢) Induced Mutation d) Induced chromosomal aberration.

o U5f o _ewisimefey uFens WBefiGamefl yrsd LweLGSDE. SiE A IBHS!

. IFf50sGeaUULLE. i Bo Le BevessULLGETESI.

o) A — SemmapoBnBonenerd; B — & Gsrensd

&) A — Ogedguwib; B — undisdsverd FOgederd

&) A - sdgarfiur asBurfiur B — oymiLrigled Iﬁrrsﬁtunsmrr
B) A — swourgssat; B — sibCsfwur GuwBsorBern suws\?usit

In biosensors Green Fluorescent protein is used which is isolated from A and spliced with B.
a) A — Chlamydomonas, B -E.coli T

b) A - Gelidium; B - Bacillus subtilis

c) A — Aequorea victoria; B — Arabidopsis thaliana
d) A - Asparagus; B — Accacia melanoxylon

. dpsam_abmp Guimbs sfiuta alaerus sieas

(i) OpobEw Hramp sHramw - (A) - wlAgCaflwn

(i) Goumenyf O HGL DBiaupsTaugD - (B) - Satigun

(il) bmen appd Bpsbew Bramnpsians - (C) - spam fseor

(iv) Bmen appd Caumaniu Fromppraug - (D) - Pibf1 G

&) (i) B (i) D (1ii) A (iv) C &) (i) B(ii) C (iii) D (iv) A
@) ()C i) D (i) AGv) B #) (i) D (i) C (iii) B (iv) A
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Match the following and find the correct answer

(1) Free floating hydrophyte - (A) Utricularia

(ii) Rooted floating hydrophyte - (B) Pistia

(iii) Submerged floating hydrophyte (C) Hydrilla

(iv) Rooted - submerged hydrophyte - (D) Nymphaea

a) (i) B (i) D (iii) A (iv) C b) () B (ii) C (iii) D (iv) A
¢) (i) C (ii) D (iii) A (iv) B d) (i) D (ii) C (iii) B (iv) A

. dhsmiLahpet abp gap siust Grsfiy (WpeBiLIGus?

) &1 oHED we aemb GugHEH

) SMTU6l aufgsL 1D

@) o ulifiogs &foib

F) eflsviigpsaisn aanefbmesan oiHsdEnHs0

Which one of the following is not a carbon sequestration method?
a) Forest conservation and soil conservation

b) Carbon foot print

¢) Biochar

d) Increasing the number of animals.

. gnw eflenss Carellen @enpun(

i) GlpPlensw IUTGHTE, gHUEBH wysul CapuBsmey Ufssiu Buweoaistesy.
) UHW ILGNLMSLLD QETHL HIUIHSH D_HANTES (PQUTHHIE, DS Syifiwss
LIHNEHDG GHU SUEME SHUMOSHE CHTNTTHHIL FHDUHHADL HDDEUTSS

Qanesm@eiene. )
®) Pl @rew eneled WIUGPUMSLD WIPUTH SSDL UHs0DE0
#) @BbpdH sraghss CapulL FTHHOLMULS CEIMMGHSS AN,

The disadvantage of pureline selection is
a) It is difficult to distinguish between hereditary variation from environmental variation.

b) New genotypes are never created so they are less stable to environmental fluctuations.
¢) The genotype is unchanged for a long period of ume.
d) The plants show more heteozygosity

. S (A) : 2 08 GumbuTaTe whHssndd HFFGL UrssS o s » s

smemb (R) : @@ s5Cufl ighs aaBHa Gofunand senLudsgy o Uy
o) (A) &fl;, (R) saump

) (A) pam; (R) #f
@) (A) &M, (R) #fl; gyomsd (R) — Aeu simbsalisdme

#®) (A) &f;, (R) &f; (R) = A-ow daasfpng

Assertion (A) : Rice is the staple food for most of the people in the world.
Reason (R) : It is casily digestible and calorie nich tood.

a) (A) correct; (R) wrong

b) (A) wrong; (R) correct

¢) (A) correct; (R) correct; but (R) does not explain (A)

d) (A) correct; (R) correct; (R) explains (A)
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T e s - -ldie. N TWTee

e T

—

15.

17.

18.

ey — l]/Section—H

gBHeUD HIeE almmssEhEE eflenL wisTi&aE6L0-
Answer any four of the following.
@hslULSMS alenTbe LTSRS &)

&=

Draw this diagram and label the parts.

&=

BMOGHSST CTTE0 sT6em?
What are embryoids?

4%X2=g

Fysnu GREoaoUluEhe Abfe Gpreeuliume CaupubhHIs

Differentiate species ecology from community ecology
USbE aNIpEETH sl e(pH

White ten percent law

Sreupll uskiyseien g8y &1 SHEemwsnil Sl asusITDI
How to do test for homozygosity of a trait in plants?
FenAWls EHBHIOU] LIS ETIDSHIS

Write the medicinal uses of Holy basil

fley — III/ Section — IIT

Grrsean G CausRiBLD

3x3=9

gBsgub apem allamésende alsniwst owuppisd eflenr -arewr-186@ SLLTWIONS
aflsnL werléssab. oL
Answer any three of the following in which question No.18 is compulsory.

B Govsdh SRIST SEINTD WEIHEE G HEPSBH?

How does pollen tube grow through a solid style?

Capu L FipasnoumLy GELaL musD FTpad STHms GLOLSH
STouIHGHIL6 Geoldand Gelub CHTLT UL QRIULGHME sumis
Draw the flow chart for heterozygous tall x homozygous dwarf Pisum sativum plants.

BTs@ Bow Brlords eusCoipiHdd uLb amrs
Draw the diagram showing four strand double cross over

Qe Nbage aemBLIBysaiBuataemse QUUAGD (wep wrg?

90 TBHHEHTLE SHHE.

What is the naming procedure for restriction endonuclease? Give an example

Quiss Gfiw gefuisd, 2-10 elwssrd W E6w
UWSHTUBSSUUBEDE. gen? allensEmHs. ‘
Of the total sunlight, only 2-10% of the solar ere
Photosynthesis. Explain why?

Ufley — IV /Section -V

dpsstgnib efembssense el welldsanb
Answer the following questions.

180

pratssisn  @sflyGaibames®

rgy is used by green plants fof

2x5=10

20. MO WEIESFCFTEME s SIUUGD UssiiymansT L pwisdGe

21.

. (D15060%1)
wryts Gumufuessd Aenmarow 90 Bodev SLGHHEH. efursd
Enumerate the characteristic features of anemophilous plants.
(or)
Plasmid is a good vector in genetic engineering, Discuss.
EHY 96 WA & Perewstyami. @Husis @sd undomen elamEss
(Dis0605))
yallufweo  &nir seauanliysar  Gfwee  Buemr o sab  ssm 5 BOUADBTWL?
SUREWaRs) SiBs apampSEMUD (PHEILGHIMSMSLLD TIpGI5.
Explain the role of wind as a vital ecological factor.
(o)
Do you believe that geographic information system will conserve environment? If so write its
methods and importance. -

Scanned by CamScanner

ugs — I (e uifi-elsomalusy) / Part - II (Bio-Zoology)
(wBuCuetimer : 35 / Marks : 35)
Ufley — I/ Section—1 8x1=8
Gilly : 1. omeidbs slanssans@n el wsissayb
2. QET@ssLLCL Frag sl sefsd Weap giymLw slmiaus Caibes6HE
GO GLer slenLulsnenyb Geirds a10pHIs.
. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

—

Note :

option code and the corresponding answer

WSS Qb UTeL elevrigeeil, Sbwalgalsd STEMILGD SHEBISD DD

o) S BEOHSYBIHED &) DI BIHAYDIHED

@) WWlsFTEmE WD SHEYMNSE0 F) @emb o2 WIfl el e ICuBHSSD

Human beings are unisexuél';'ixfimals, the type of syngamy in human beings is

a) autogamy b) exogamy c) hologamy d) paedogamy

waisaist BoLupe Galtumss Hopayssisar sfwrar suflens

S) @aFbFsd 2 HEUTESLD —> SHADISHH —» BHSCHTEND —> WPaUBES
&[H&BHT6ND —> L@ﬂﬂiéﬁ Ganemsd —> walBuml.

&) BenEQssy 2 maunssd— Umaypigs —> wabde shHCsTed —»
SmBEETND —r2_miusst BHTsimsd — wEUBGUQY.

8) BwF0sd 2 EaTEsD —>BHADSH —>EHECHTD —>UileTapipHed
WwaBsE sHsdstend —awsltuy —>2 plysed Gpisipsd

) @aEess o manssb— SGEADIHO— Tmapips— o JUUSsT GHIHDs
smaCansmio—> walbse smsestenb— wslBu
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human being is

i roductive events in
3 Conmgmeins blastocyst— 838

a) Gametogenesis—s fertilization—»
— parturition s

b) Gametogenesis— Cleavage—> gastructi
— parturition . _—

¢) Gametogenesis —»fertilization —»blastocyst —¥cleavag
— parturition —»OTZanogenesis . blaseysi

d) Gametogenesis—»fertilization—»cleavage —> organogenesis — Y
—» gastrulation —-parturition . ) ) -

. dpeumaimanget a5 SEUU am LHpGHTmWLL Uﬂ]ﬂﬂm.ﬂ—gmmwwmmﬁ UTEE )

o) HPV — sGuydulsn aped ppsd Heoe s60Y GHILHGSDS!

o) usmsulamsd LWETUT. peners HelTHHED

@) @mawg Sowasmsd HHH0

#) usmLel @enlbumbsd

Which one of the following is not true regarding cervical cancer?

a) Primary prevention begins with HPV vaccination

trulation— Organogenesis

0 blastrocyst—> organogenesis

—pgastrulation

b) Avoiding tobacco usage

c) Preventing early marriage

d) Practicing polygamy

. SpaaRLaupemp QuImGH sfwner almLenius SHTHS

(i) selfwibpbs = uimsien SGHUY wHHE - (A) Freod CuTEIGWT

- (B) anfluumgyed HBUY WEHBS!
- (C) sLLbmw SEUY WHbs!
(iv) @gewimd seveogpsnn s6LY wEBE - (D) DPT &G0 wEba

o) ()C(i) A (i) D(v)B &) (i) A (ii) D (iii) B (iv) C
®) ()D()B () A(iv)C #) (i) B (ii) D (iii) C (iv) D
Match the following and find the correct answer

(i) Gsmedaoiu’L HBUY WEHHES
(iii) BFaSSH6N

(i) — Live attenuated vaccine -  (A) Salk’s polio vaccine
(ii) Killed vaccine - (B) Hepatitis vaccine:
(iii) Toxoids - (C) Measles vaccine '
(iv) Second generation vaccine - (D) DPT vaccine

a) (i) C (ii) A (iii) D (iv) B
c) (i) D (ii) B (iii) A (iv) C
. souptel Benemenwds semibuly

b) () A (i) D (iii) B (iv) C
d) () B (ii) A (ii)) C (iv) D

3) uTeUTENL &&L_Ig sn&GLIETGS6D

&) guli an&@ynenwdlad QefaldfBw
8 Bs swBampneigs BOsemyymiIG
F) Goniig - uferbl

Find out the incorrect pair

a) Cheese - Lactococcus

b) Curd - Saccharomyces cerevisiae

c) Idli - Leuconostoc mesenteroids

d) Bread - Yeast
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. PeiFedal (1peudan & : . )
° @Iﬂﬁ\lfﬁl&ﬂﬂmlﬂb gj @g@ i uﬁsﬁ@uumLG FRBSUGD symg. A sl () oudGem
onfieo B smEled (i) guGwm Slfessmenyb Gatesiamey.
o) M - 26, (1) - 27 &) () - 2. i
: iz =22, () - 29
& o - 21, @) - 30 ®) () - 20, (i) - 31
Insulin molecule is made of two pol i i . s .
: Ll polypeptide chains. The ch
Chain has (if) amino acids, ypep! ¢ chain A has (i) amino acids and B
a) (!) 26 (ii) 27 b) (i) 22 (ii) 29
c) (i) 21 (i1) 30 d) (i) 20 (ii) 31
7. Gayenmeliled o sften QUi cuenelootug syamTevwLD abs aleonfigsEmbd! i i
; _ EHBG0 UsD GuDnE.
) @bHu yed wHmD A wisne
o) BbHu Ansd wipL @Ay Wi
@) wLBxrel emibysHsial wiph Godi ambySDse
) SIGETaN_T umbL WwH@D WemeLTDL
Periyar wild life sanctuary in Kerala is famous for
a) Indian Tiger and Asiatic elephant
b) Indian lion and Indian elephant
¢) Spiny ant eater and scaly ant eater
d) Anaconda snake and python
8. @ndwrele suen walHeE a@meNRSSILEGMT wir?
) GHSTEOTH UGSET &) sy unuks @) HbfhsT A #)
6TLD. 61610, Fsum LB HET
Who is honoured as Forest man of india?

a) Sunderlal Bahuguna b) Jadav payeng

c) Amrinder Singh d) M.S.Swaminathan

Wfley — 11/ Section—1I 4%2=8
geHEID HIEG slanbseEnde el wehobsab.
Answer any four of the following.
9. e WL EHHAMDSSTEN, GMjEuBISme UL QWsiHs
Enumerate the causes for male infertility.
10. RNA 2 sabd aemtuGeag wrg?
What is known as RNA world?
1L (pupewure  auwg  SemsHGD poplsdmba Uil aws smEEGD (DLW
BapuBHHIS.
Differentiate relative dating from absolute dating.
12. 'GErése — auenyuim
Define ‘bio reactor’ _
13. BuwbemeudE SILUTEETET LEHoeisd STERILLGD alevnigsenanl ulQUSEs
List out the fauna of Trans Himalayan region
14, o uiflw o HOOUBSSD ead G UGS wig!?
Which is referred to as biomagnification?
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. 3%3=
~1III '
ey — I/ Sectlo_n ; . sem i B
98BI apsim elambsErse eloLws Sieupis eflewm STEwr I L

allenL_we S seyLb.

Answer any three of the following in which question No.18 is compulsory.

15. @ Gmiuyede UL cuahE Ursksmms Gl

Draw the diagram of a gemmule and label the parts.

16. albs OFed oL GFsedgye LG GFwsd (penmenul aendG&-

Explain the penetration mechanism of a sperm into an egg.

17. uflemmwelwsded, Bememiy e uiflsalsr ukg eeem?

What is the role of connecting links in evolution?

18. puensApaiednbs Goinman CupubHes

Differentiate oligopotency from unipotency.

19. wafis WILERSA LSS apsolb G QTLTHNISSLSMS ceanm Sw (PIgub?

20.

21.

HGP is useful in tracing human history. How?

Ulfley — IV / Section - IV 2%5=]0
Spsargpid elembsemse sl welssayb
Answer the following questions.
rBsremeoullsd e Gumb  fermefledt  Gewein(  GsTLBGSE  H@D SIS
QawsdpammemiL eflendEs. ‘
e (Sisbeug) -
umevsTihbs  umpbudl  GpTisst  QUELUTEND SeiEmMC LTS SEDE. Bz @i
2 _SMeMSHIL el allend@sas. -
Explain gene switch on and off mechanism in E.coli
(or)
Sex linked inheritable diseases mostly affects men, Explain it with an example.
eilend gm GBIl ©iE0R, Syemsd B85 wip o Wiflamsa sréagusHE o ik
el > GuFDG o _sail yidpg.
_ (Sisbe0g))
wexl GaETenSLeT LIS allendiEs.
AIDS is not a disease but it facilitates the attack by other dréﬁﬂiéms. Explain why?
(or) o
Explain the properties of pedosphere.

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
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,5[[6le DiETEY :
Time Allowed :
a@ﬁ“@ﬂ&ﬁ'ﬂ 5

Instructions :

@iy :

@ A

is (B)

wrHfl eflemssrer 2019 -
Guoevplency @eRn_mb gyeHE / Higher Secondary Second Year

Note :

GBIy :

Note :

a) (A) - (m)
¢) (A)-(2n) (B)-(20)

20 / Model question paper 2019 - 20 - (4)

o uifwed / Biology
&0 wHp> gykdeon ayd / Tamil and English Version)
15 pulrssht + 3.00 wemf Qurds wHIGUesssT : 70
15 minutes + 3.00 hrs Maximum Marks : 70
l. omaisg elembsesd slursl Lo 2 _GENST eeuBmen  FlunTHsis
Gsnsitsmeyid. SiFsLUGeS  Gopulnlls omps  sbisTERiLLTETTLD
2 Leamuinssd Qsfalldbsatb.
2. pod (oisveng) smiy evwoulsner w6 aWSINBIGE SigsCHTyEusBED
UweiuBHs CeusmiBo. ULMISE auafasng Gusidled LWSTLBSSN|D.
1. Check the question paper for faimess of printing. If there is any lack of faimess,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams.
usd — I (e uif-sraraius), ugd — I (e ulfl-efeomdus) sHeidbseal
el Ggnefsy allsmwefssatb.
Candidate should answer Part — I (Bio-Botany) & Part — II (Bio-Zoology) in
separate answer-books.
ued —I"(e-ulfl-prauysiwsd) / Part— I (Bio-Botany)
(oBuGuesissit : 35 / Marks : 35)
Ufley — I/ Section—1I
1. amaisgs amssEpseh oo weilssaun
2. GEMp&EILLL: Bisig aimssisn sab giumLw sloLamws CaTEEE5S!
P GLa sienLulsnemuyb CFiHH 6WOGHIS.
1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

Lz
option code and the corresponding answer

8x1=8

l. gm e GalllL &6 STaUyHHR o _6en 2 [meunss o U smelsd sisien @BynConGemiish
Bemeo (A) loppib GPTil 2 Lsmelsd e_sfem &CymCunGsniar Henso B.

o) (A) — B — (@n)

&) (A) — 2n) B - (m)

— (2n) B - (2n) M A-@mB-(m

In a male gametophyte, the chromosomal number of generative nucleus is (A) and tube nucleus

b) (A)-(20) (B)-(®)

) — (2n)
i d(A) - B)-m

186 _ A
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. tp (A) : oapiGurslibaliureis Bmoagn Bi eURUT gD

i i QerweouTBseh |
2. dhapasmappst a5 Gesolfiedsr GUTS! @G;rrr@wﬂlﬂarrrm&mﬂm Ui,

#fwibp eurdawib? e ; sWb HNHDOEE G
o) 9bdmse @GInGwIGsTbmss DivslaBEsTE DJUIGDIRIE

. . - C GIT K
GSOUICL  oimwelL GHBGs6wW 9._en ;l o oabeD GBI
o) Geiped UGLIsH BeoL B s S ool _ ;
_ o b GeNE HBOBNTS WIDEDE.
@rigiusmiupn Gursl GaGaTn SH0aSNSEDD BT ‘
Qeibam sisveSogih g Gl STEMILGD : .
o ; i =
@) GuorLn . Cuat e gsHemse @CrBurGsmbsst Lflaupe apeld ButaupiuL
sisveisbmennas Lflgauen Semer. ) W
F) GImsd ugllsr s Guen - 16 ghdmss @ByrGunBsmbseisl FCENS
&CrmBwLpl &6 Lfl&ebipen. ) .
Which one of the following is incorrect regarding chromosomal behaviour during cell
division?
a) The alleles of a genotype are found in the some locus of a homologous chromosome.
b) In the S phase of meiotic interphase each chromosome replicates forming two copies of
each allele, one on each chromatid.

¢) The homologus chromosomes segregate in metaphase I, thereby separating two different
alleles.

d) In anaphase 11 of meiosis, separation of sister chromatid of homologous chromosomes takes
place. N

SumamanDN b gam @yeLTD K eusnidlams. wrbpl Gurmsi?

Sl) SISHEMMED o) o s ondsob @) Afs aufeob ) BFE Bipsst

Which one of the following is a secondary metabolite?

a) Ethanol b) Acetic acid ¢) Citric acid

Spaumeaunmst abs omp sfura Osrgs?

o) slaidfeoLen - NeiBsnemr o1 U amadend - UB@BETY aHliTombg!

o) Cauemsdld - Caggmbmad Crrdlwed - wfwr sdinomhs

) ygrdelsn - pgreded Lnyfur - AsusHbE WEHBE

#) Bomgen - Caldlen sigiaub - el Heaumyeni N

Which one of the following is a correct set? '

a} Vineristine — Cinchona officinalis — Anti carcinogen

b) Capsacin - catharanthus roseus - Antimalarial

¢) Digoxin — Digitalis purpuria — Cardiac tonic

d) Codeine — Capsicum annum — Analgesic

d) Toxic pigments

GofiTE @maEd

smyemd (R) : gmsdlar sigulsd o eiten 14 fuls GeulLpleaemL  oiiLEH B

CataiymsLnH!.

Bl (A) &f; (R) saug
A (A) womb (R) Byes@e af; guemsy (R) L Aulsn ellnésins
DISHLNWLIATIEENED

8) (A) opgnd (R) ByeEew sf; (R) UG — A-wls ellsndémions

SiENE.
#} (A) wpp (R) @reaGo geam e

186

6. aHIHINHAE Saflash UL namnms Buma

Assertion (A) : Hypolimniotic layer of wate
Reason (R) : The water holds the temperatu
a) (A) correct; (R) wrong

b) Both (A) and (R) are correct; but (R) is not the correct explanation of (A)

¢) Both (A) and (R) are correct; (R) is the correct explanation of (A)
d) Both (A) and (R) arc wrong,

T is always cold,
re of soil at the bottom of pond

D 25 PewLer Qeugdasimen?

o) Gurtwiramrelwr  ay) HeAGuimb 8) ungfieflwn auramred ) e1dGUsHEILID

a@sol_Mwr

Which p]ant‘pods explodes with a loud noise like cracker?
a) Boerhaavia b) Cleome  ° c) Bauhinia vahlii d) Ecballium elatrium

Bpauapaamabmis ahE gam Hmedp nb el GlsEL 2 _amaF sasdsd.
Bl) b6 —> 6160 &6 —» LMbL— LimHE

&) SUSOTID __, UDEMEUEST —FsUeIEEHST —> | EhenF H6iT
@) pra Bsmeussr —slsnig Fmeumssi —15eEsT —>UTDUSS
FF) STEUITRISET — (LPWIsHEST — il — LmhbE
Which one of the following food chain refers inverted pyramid?
a) Grasses—» Rats —»Snake —»Hawk
b) Banyan tree—» Birds —» Beetles—» Fungi
c¢) Phytoplanktons— Zooplanktons — Fishes— snakes
d) Plants—»Rabbits—» Fox—» Hawk
8. Dpaumeuenaupmst ebs @sim 2 ulfl Geusl Hsusn wyb?
&) denenfidigur HIwb &) Bilwb
@) o@sor Geugw ®) Senysrhainid
Which one of the following is a livefence of fodder?

a) Gliricidia sepium b) Nerium c) Aloe vera d) Chrysanthemum

“udfiey — 11/ Section—11 4x2=%
gBasgid BreE elsnsasensd sl weissa.
Answer any four of the following . .
9. siay Ll CUEEESADE abs ams Crwubme smpanl CUEHESD BB
o 105 AMLEG Sryend CErhosmb. .
Which method of artificial vegetative reproduction is good in plants? Give reason for Your
answer.
10. @hs ULEMS aEbs UTehsmMEs GRUNGE.

©

2 GFs0 (paidh

Redraw the diagram and label the parts

2 Celled proembryo

Il GuignBsmbsnu preogusBediobs CapuGHEs
Differentiate tetrasomy (rom tetraploidy

187
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12.

13.

16.

17.

18.

20.

. UsuBsupy

BTEIDILITES (@ IUGIOTHHD aeDTeD et

What is known as electroporation of gene transfer? .

ggum @EWTELEH  yiiele u%mfnmﬁ?fszgmﬁ 9
FOL B emen, 0 GIHHENTS 2 : .

By using@;gcr:m mansﬁatwngieﬂch we produce varieties of organisms, What is the neeg -

biosafety in it?

@fuwsd et 6omISafs 8_6item

CaTRbElL RHHSTAID, aHb  alGmend

sadefuisd walpmer ahs, oppera smagosyb GHIIES. ;

In different food chains of different ecosystem the placement of man is not mentioned, you

give placement in a suitable food chain and give reason for your answer.

fUENS o_ulfseim Lmuﬁﬁ

P_ameY&F

err!‘uaﬂm%.l
Fiflwmesr

&m%

usoGeum
@i allsbamsv.

Ufley — III/ Section —III . . 3x3=g
98o@id weap slarésaig sl wsl bl o ami-18566 SLLTLLTES
allenL_wefldseayib. e
Answer any three of the following in which question No.18 is compulsory.

- LG Wenp eeiugh seouyuifiwl 2 maundeh @pmr,rjéﬁ] setly, LWITCUBSES (WD,

Bhbps smpep B ghms Cersidpnur? siLeGwsls 2 ag LHoe Siésfunsds
GETEESaLD. s
Grafting is a method of production of hybrid plants but nt the'method of reproduction. Do
You agree this statement? Give logic reason for your answer. - -

BluLsgled GCBwIGand aanmisms Inld CergssiulGmg. Bmsd SaliBLilpsg
GILGLWEIS R 0

Lol T

A

This is a type of chromosomal abnormality. Find it out, and give a note on it.

ILgBLMD eleleuTE HTouNIGemsT S B5SuIedmba 'urr@esnsglm@?

How does Rhytidome protect the plant against forest fire?, ...

allsviig sefalmbg Geutiub QsusfiniGeugiemrso, 2yBmeh @wl'-lLl BLEAME. esiaurgy?
In animals, loss of energy occurs due to evoporation of l:lea}.-I;IOW? . .

@Ge.meﬁ @Qﬂlﬂmm_mﬂﬁéﬂ B gbuBd Bpre wimib wenws oflemsToysamen 611QEIE.
Write the direct and indirect effects of ozone depletion pﬂ.m}u;,

_ . Ofley — IV/Section -1y~ "o
Bsareh alanssense sl wiefdsayn HeaR)
Answer the following questions.

2%5=10

90 QNG SHHL WILE LICBIH QL ; .
urgbufubeme sflerdes. P 9 preno ougelien Gerwshunt o PB&GD

(Bisbsog,)

188

S —

21.

LIUED LIDBGHN Qm Hrids @

e, SHLTEE GewsouGn SiECyTUTSIefuG A6 Lisemen

::iam the pattern of inheritance of a dominant gene suppressed by another one dominant
' (or)
Explain the role of Agrobacterium as a vector in gene transfer.
mlLS Gpiee, gmu aflmss Cgimer guuicd 906 iYL UG 2 galLer
elleT& &,
(SIs06081)
BOwel QUIEL SeMel SiFar WHEILD S ubl eogs.
Compare mass selection with pure line selection with the help of a schematic diagram.

(or)
Write about the king and queen of spices.

uggd — II (e ulfi-slsomtiawsh) / Part —II (Bio-Zoology)
. (wPlGuesise : 35 / Marks : 35)
Uifley — I/ Section—1
Gily : 1. owmasg sarssaseh almlwsissa)b
2. OerhsalulL praig elmLsais Wead ghusmLy aioLmwus CaibeasBss
GO BLer sl ulmenybd Gaibg epgs.

8x1=8

—

Note : 1. Answer all the questions
2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer

. eamLgralled, GQr Gssmen Gsmbpels@h HGHGSS6N.

&) Uy ohph o5 DBEGHSHEN
F) Us wipd 56 diGEGSs

o) up SGES wLED

@) yn, BG LHOW NS SESGSS
In Hydra, the buds develop from

a) ectoderm layer only

c) ectoderm, mesoderm and endoderm layers

b) ectoderm and endoderm layers
d) ectoderm and mesoderm layers

. dpaupaeTaBmsT abs gk arsfud soleuswl upfu subp arssunb?

o) @, smeodp Cuisstul agaIpeLWE
Q) @@, Apditeny LHEY LESGLIISE BHLEW JMOBHISTEMS.

@) snloL osaD WEHL 2 Lo LEHUS weowts swals sroaTigIST SPSADE.
F) amisnuuis safd e HESSSST 2 siena.

Which one of the following is an incorrect statement regarding uterus?

a) It is an inverted pear shaped structure.

b) It lies between urinary bladder and rectum

¢) The uterus opens into the vagina through fundus.

d) The wall of uterus has three layers.
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e OuemBSHe GriwiuBD SOEEDL oy,
3 ompp (A) : sGEGPD SD-

fdFeng. . . -
smemb (R) : B @mstss sLppILEUDHS 565
- o @) pan ® A

S(HRQIHENEOLID SEHEDSH)
olissos  #) (A) sf (R) — (A)oow Qﬂm&@)@mﬂ

gﬂGUGﬁT

=) (A) &f; (R) sam

@) (A) &M ayeso (R), A-snw sllsndH s >
Assertion (A) : Tubectomy is the surgical Slcrlllhﬂll’t“
Reason (R) : It blocks the transport of the gametes ai o) e
a) (A) Correct; (R) Wrong b) (A) Wrong;

- lains (A)
: . d) (A) Correct; (R) exp
¢) (A) Correct; but (R) does not explain (A) 3 X & "@Lﬂ”@mbmmmm,

1in woren. .
d prevents conception.

4 9m  upLyEs 12 pLed @BynBLrBsTOEMEMLL
PETEHIEHSTE, SIS LT aaia? - N |
o) e &) Gued @) utg sy, Uty GUE F) GUUT SLem

. X’ ?
What is the sex of Drosophila, which contains 12 autosomes and 3 ‘X’ Chromosomes?

a) Male  b) Female ¢) Gynandromorphs 4 S“.per.ma'e'
5. b o Lele WBC — ulamed @ewiGuyrer e pup@s OFILOLGNZ  asioue,
Crnissen a&miiy? ) )
o) @HFLIGLITE B 2 Laded o pusd GauwiupaPomn BB 9O GFLIbmESsH
STy OEHHSI.
&) BF 9m eumd WhHwien GETiGHML ST
B) 85 9o Bwsy BrmisseL STl
#) B3 om Gebms (wepuls GuplunL GEmissemL STUY
What type of immunity, when interferons are produced by WBCs in our body?
a) Interferons are not produced in our body, it is a synthetic drug
b) It is a type of passive immunity
c) It is a natural immunity
d) It is an artificial acquired immunity
6. sm{Burm Lmugﬂuﬂaﬂ _(Sl.rrrg.t, (Eueﬁmsm giflghdwendfod m Lgs Wassmes o Muss
Gridipg. oipd Guui (A) siyrssdnsra Giug (B).
a) A — aangGuuLrddlsh B - eté guyrer gfermsn
o) A — Ayl By Lrsden B-Fab gfsiissn
B) (A) - gusun Lrsden B-PCR gisimsi
#) A - @LGi)I._H srwir[?t.m.m’sé’lait B-Cry gisiasn (aSeny eSemsir)
During sporulation Bacillus thuringiensis

encoded by (B).

a) A - enterotoxin; B — Lac operon genes

b) A — neurotoxin; B - Fab genes
c) A - Alpha toxin; B - PCR genes
d) A - Delta endotoxin; B - Cry genes
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produces a crystal protein called (A) which i

.

e BHTeND  eTaiiLg

5) 90 G Ve wsHG g
SODEBRDNE @ig,, SPD5H Qubiw whmb o uifiu

5) yuuiler @wimiy — Bouglw simEe,

R) GLODN WSLasAs Basdgy |
GYDI BHEI eurpgeb.

Ecosphere means

) all the physical and biological environment of an ecosysten.

ameud  Guiliug,,
BHMLE Gilug, SiFsd o ulfiennsssir Bwmilw

b) all the bic.)logical organisms of the earth which interact with the physical environment.
¢) The physio — chemical environment of the earth.

d) Smallest part of an ecosystem, in which organisms interact with physical environment

oSl GImEOU  glyu  ugHsis o Wi '

selLGSDNE. B5bBEs smemb.

s) Buugdaaied o Wilemsaiar  susniden
Blevey M1,

&) SEIICL Gen Qouafulsh Lywed 2 (heureugiebensv.

) CxrlLs sTHHN PHoanh Bs P GatuPemsy (40°C) BraHIEEHEE FTSHLTES
2 _ol6ITEI.

B Bl ussturwsl, gelsBsismsse LWIgnIsTenSTe £ _6iemg.

Rich biodiversity is seen near equator. The reason is

a) most suitable temperature for metabolism of living things.

b) cyclone does not occur periedically.

c) extreme temperature (40"::) during the summer is favourable for plants.
d) lengthy photoperiodism is useful for photosynthesis.

LUeOaunss S BGHE

S WIINSHHEG ensswre  GeulLBene

Sfley — II/Section—II 4x2=8
gepaId BrEIE alammboende el wsissab.
Answer any four of the following,
aleongpsais moLOLQD sdel @aUCuksssms ga HTD Aplyaes  umede
BlCLmES (oD a6 HPHAGBTLDL?
Why do we call parthenogenesis as a special type of sexual reproduction in animals?

. &b Grmuler epapmd Blames SlGHEmE GIQHIS

Write the tertiary stage symptoms of syphilis.

- PoGsed Garinamisande tRNA — &se B gen?

There are no tRNAs for stop codons why?

- BB 10 awg GEEms Aambon Geruiemes uiHssiulGemg. b GHLS GHTHD

BEOGIET Siedeug CmlLS1? 2 6l alLEGS SaNd H(bs.
A 10 vyear old child is suffering from chicken pox. Is this infection good or bad? Give reason

for your answer.

- feosuens Ldiefu Hilyseen HID ‘GUUT us' ean gt HienpSECDIDL?

Why do we call some strains of bacteria as ‘super bug’?
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15.

16.

17.
18.

19.

20.

21.

GREEN GARDEN MATRIC. HR. SEC. SCHOOL

Gs  sETEsE  sfeuenpule wpGRDE &1
LTBMTE BHeEGD. aeeurm?

: ilizers. How?
Ecosan toilets are an excellent substitute for chemical fertilizers

difley — 111/ Section - Il j1-184 esn'_l_nu.nmrnexs?)"3=g
A p—— Y P I L
sl werilssab. )
Answer any three of the following in which question
Rh+ ypoussiparar Oawener Gersiemsay 6RH-
Write the Wiener hypothesis for Rh+ phenotype.
5'—»3' HensGrradu Puseals ouieb Bsikl
wimb 3 eyfweupiienr Gurmst wrg?
5! — 3! direction of a nucleic acid. Write the meaning of 5'
Statement.
LIUMIE STFss ge eELls snissn e SmpssiLGaps’
Why is typhoid called as enteric fever? .
96 G GPPme waLasgs asany LHBun s Ve GEIDTES MTDEsipe?
How are the different fish communities living in a pond ecosystem?
ApPemsst - Beotugiy Py Greigheh GG 266, GBILTLSSTEN ST gy
afsuffl.
Describe species — area relationship on log scale.

No.18 is compulsory.

radug@s GUdLiuCGelen 5'

and 3 in the above

Ufley — IV / Section - IV 2%5=10
SPEETEID slomEsEnEE s weissa.
Answer the following questions. 7
&MU &GS, SN GFul @meniiys Haelsa Undamer elardds.
(Sieve0g)
RNA - e _ssb - alleurd)
Explain the role of placenta during pregnancy
(or)
‘RNA world’ — Discuss. -
QamfnsTese Gueonafamssd e salu) & Bupmss Bsialmer alendgs.
(S108081)
whHEe Corgmand sl Cpis s pizedsy, PCR-a1 ukidlaan eflondgs.
Explain natural selection through industrial melanism.
(o)
Explain the role of PCR in clinical diagnosis.

Perundurai R.S.
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Model question :
s00 e : ; Paper 2019 - 20 - (5
O @yessin_mp Rw®B / Higher Secondary Second Yea:
(B ke s 2 uifiwed / Biology
QEdh end / Tami :
grovld* SlTe : 15 B rfissit + 3,00 el b (T o Sk ‘;rs".m) 3 L
Time Allowed : 15 minutes + 3,00 hrs lﬂﬂﬁgr:dwﬁu@umsm te
aximum Marks : 70

o SsuSmST  FfLNig g

SFFUUFeND  Gemmuimin s SIOBE BB TEACILTSIAL (D

2_L enRuITE5 (AEBIEY 2

- BOOD (Hisdsug) s®LY ewullsmar ol Gew IRSUSHBSD  SH&ECENYBRISHED

UWSILUBES Cauasi@ld. UL misen uIENE Gusiflsh LwsLIGSSeD.

Check the question paper for fairness of printing. If there is any lack of faimess

inform the Hall supervisor immediately. ,
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams,

G0y : ugd — 1 (e-uifl-grayeiusy), ugd — 11 (2_uif-slemabuwsn) FfSsal
allen_garefsy aflan_wefssayb.

Note : Candidate should answer Part — I (Bio-Botany) & Part — II (Bio-Zoology) in

separate answer-books.

SFNDTHET : 1. DiengE olemésemnd  efumsy udleunsd o _siengr
QareitameyLd.

Instructions : 1.

ugd — 1 (e_uif-prayaiush) / Part — I (Bio-Botany)
(LPLGUewEsT : 35 / Marks : 35)
Ufley — I/ Section —I ' 8x1=8
@iy : 1. sensbHE alansaensch alamwelssab '
2. QEME&SUULL Bl oL ssicn Wemn ghumLw slomLamus CairbeHBHa
G GLei eflenLuwimenyd GFrss spEms.
Note : 1. Answer all the questions 5
2. Choose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer
L. SpaumsuaraBmeT 6hs @D @UHUTE ETGHSTaIND?

o)) Csenenem 1) UTSHaETU @) ulLmedl 7) GuiFens

Which one of the following is a dioecious plant? G

a) Coconut b) Bitter gourd c) Pea plant . d) Date palm
2. Bpamasabpet abs @p UL LTEFGsy wjugssst upfw sfubn Geem?

3) eileng agad - @GEynGuonGsmd e 6 y

Q) safl Epb - &CynGuwnGsD eewr: 5

B8) et oevwaiLd - GByTCLIGFTD eed: 4

¥ elleng Mipn - @CyrBwrBFTd e 1

Which one of the following is not a correct pair regarding genes of pea plant.

a) Seed shape - Chromosome number - 6

b) Pod colour - Chromosome number - 5

¢) Flower position - Chromosome number -4

d) Seed colour - Chromosome number - |
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P A Y T

3. RIR21212 eeiigoid wyugm b GsaiL

. 9 QFsedsh g wpw GBITELIBsTAE aemeiGm® 23, S

STFHIEDD ellenSWED qmi@_&;ﬂ‘ﬁ]ﬂillb STaitgy)
@) ot Ao #) ey
enotype : R1 R11212?
d) Light red
Beil Bl wn@smrrear;rm

) oL Aauly &) 10gonen S Fauliy
What is the phenotype of wheat kernal colour for the .g
a) Dark red b) Medium dark red ¢) Medium red

B Gus_M@Fms Hamsoseflsh @Ggﬂl‘&mn@&rnb&eﬁlaﬁ PG ol ok o

o) 44 whgD 49 &) 17 pph 34 @ 47 vpod 46 F 45 0000 8

If haploid number in a cell is 23. The double monosomic and pentasomy number will be
a) 44 and 49 b) 17 and 34 ¢) 47 and 46 d)45and 48

. eGLBamBugds stemLGouS

2) UsGUmESWLTEN 2 _cmeney £ _eif 2 ulireu(pd o_uiifembiseT _
&) GOHWU amswuTe 2 smee WL GG o G 2 ull s> e ifiamBiEseT
@) e lssaenulsn oifs wrpphsmenusmLw Biis aumgpt = ulfssi.

) e lussaeouls Gméw oippwpemLwy B w e TP e ufifisar.
Stenophagic means

a) The organism can survive by taking wide range of food

b) The organism can survive by taking narrow range of food
c) The organism can live in water with wide range of salinity.
d) The organism can live in water with narrow range of salinity.

. dpampaaiabpst abs gip wLELEUTET o amagF Fudaimwus 1

&) LD&EsT —DsRiL(p —» BEHLY LB —LwGHS!

&) UpEsiT —pa160 — UTDY —»H(DS ‘

®) o dihs Bena®HsT — DALY —pSHUL LB —pLIGHSI
F) STEuJRSET —(pIIsd —LTIDL —»5W0E

Which is the right representation of detritus food chain?

a) Grass — Earthworm —p Black bird —» Hawk

b) Grass —»Mouse —»Snake —»Eagle
¢) Fallen leaves —» Earthworm — Black bird —Hawk
d) Plants —» Rabbit—Snake—» Eagle

. dpesLapenp CurmsH Ffuner elaLenus Sraks

(1) engGsmiwnd - (A) B1 Guyed

(i) emy@esreLiTom - (B) senpe g

(ill) SiBFTeOM - (C) &LEWiT aumpsms ‘
(iv) &@m CLnGsoflur - (D) gl 2 ulr yehena .
&) (1) B (i) C (iii) D (iv) A <) (i) C (ii) D (iii) B (iv)
® (i) C (ii) D (iii) A (iv) B % (i) B (i) D (iii) C (iv) A
Match the following and find the correct answer '

(i) Rhizobium - (A) Water ferm

(ii) Trichoderma - (B) Green manuring
(iii) Azolla - (C) Symbiotic bacterium
(iv) Crotolaria - (D) Free living fungus

194

a) () B (ii) C (iii) D (iv) A
¢) () C (i) D (iii) A (iv) B Fim: 7
-y s ) ()B D (i .
8. LEBN UOSHNYDD Bhbs By Wsauw muumf;;@_ WIS

&) e <) USA (0iGwfbs

m) 8) @i e s
Folk_sys_tem of medicine is popular in Bbdunr  #) UK (@udoonsg)
a) Nigeria b) USA

b) (i) C (ii) D (i) B (iv) A

olndia  d)UK

IBa@ID BrsiE mﬂmms@g@ﬂmaﬂmfuja%:;:;ib. 8 v
Answer any four of the following.

9. @sdaale BeLwmp LwELTEEME FIIQEIS.
Write the practical application of activation of nucellar tissue

10. @bFers FBg wNHNEMS OUIGEHMITSETS 568 LIHDSHNGHE CapLBHES
Differentiate missense mutation from non sense mutation

1. eern IModsr Grplpsmenu QIS
Write the principle of electrophoresis.

12. @bPae sFwrEmsEnse RIHE 2 STTEMBBMET 6(IDHIS
Write any two examples for ecological equivalents,

13. syhmed Al eGUIEREID CEITOE. B5DE e 2 SMmamd QsIE.
Pyramid of energy is always upright Give an example for it

14, THC — Wei1 @redi® LWeLTGSMET 610QHIS

Write any two uses of THC

Ufley — III/ Section — IIT 3x3=9
geaHaEID D alamEsEnsd alsmLws Sweubmisd ailam eeb-186@ SLLMUTES
allenL_wieTllésaib.

Answer any three of the following in which question No.18 is compulsory.
15. uiLnels Gaguish sTemluBl ULGHIL S Seend ubnll spgms.
Write about pleiotrophy gene of Pisum sativam.
16. @ememm #@F wnbisst aeLGUME Wiena? & ST GHTE.
What are comutagens? Give example
17. safid@s slmswomssn OFueid 2 61 SmoiiusD SEMEDULSEET SLHIE.
Write the anatomical adaptations of vivipary germination
18, sgiiy Pev Gipsd WeHILGHE BFaausman (LIS
Write the benefits of mangrove ecosystem.
8. Gpni sE0US Hpoa 9o STAISHMT USSH Anbs umbufu LTTCUESESEEMID
apl? efensgs. . )
Which is the best conventional method to introduce disease resistance capacity into a plant?

Explain. e
Ofley — IV / Section - IV 2x5=1
Bpsarggd ManssEHE elLwelbaid.

Answer the following questions.

0. @ped rouy sfeppuls wemwieny eisufl
Gellbglmeog S el
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96 Find out the incorrect pair
PHB — g, PLA — o L&t guibs® —_—
Describe ?i’le structure of dicot seed a) Neisseria gonorrhoeae - Affects urethra
. oo (on) b) Hepatitis B virus - Liver cirrhosis
ompare PHB wi S
. alrrmﬁ»uieb PHOUmES GFwIPMBL aufl@sULBHS®: %) IC”vd'd . - Enlarged lymph
wefly e mu.iggg::gliwu@tb Lgeln @060 aImLSSman) ™ d) Candida albicans - Inflammation of heart
Bubmsns  WH@ID & @D dp s .
s, 4 SpoaGaTRDST U GBBurGeTbas UL o miEwLTE S aE?
Write the micropropagation protocol for banana o) s, Oustt @meuflsi o slsh 2_siisn @eubeunm Gasledignd gBGwNm Qrwsu@d X
| (n House Gases Emission GEITGLICFTD 2 sheng.
Discuss the natural and anthropogenic soruces of Green Hous i sy >
KIS @y LFweLGD X @ErCLrCstuph, Guamseiss @Qred@ QrwsuGd X
ued — I (e_uifi-eleunsdwen) / Part—1I (Bio-Zoology) &CInGnBanbaeHd 2_shensn.
(0BiGuessst : 35 / Marks : 35) @) gysisald Grend Gswoud X GOITELIBTLEEHD, Cueissis ST
ifley — I/ Section—1 8x1=8g CFwebu@h X @@rrGurGatupd 2_siteng.
SOy : 1. Sass amssamsah almLLaibsnd %) Guanisefiisy @rea® GowsuB> X GOJTGwiCsmbmsn o cienar, syamed ayedmeisd
2. GanBssLULL e slaLasin Beab ghumLw aomemus Caibosgsy QrwsiuBh X @BriBursnd Gsdans.
GPULELsS sl ulmanyd GsToHE 6QHE. v Which one of the following is a true statement regarding sex chromosomes of Mammals?
Note : 1. Answer all the questions R a) Both males and females have only one functional X chromosome per cell.
2. Choose the most suitable answer from the given four alternatives and write the b) Males have one functional X chromosome whereas females have two functional X —
option code and the corresponding answer chromosomes.
A . . c¢) Males have two functional X chromosomes whereas females have only one functional X
. prumyelst paaon MmEesnbl wHph Greimd Hoe aleECambl wanGu hr
o) Gsras WHQD WG chromosomes
) el Wb d) Females have two functional X chromosomes whereas males have no functional X
) wIBseT WHEID wefgHsa chromosome.
N ; 5. dpsevieaupens QuImpsSH sflwuner elmLews ETans
b .W il sk , (i) OLra@wh sreold (A) Seisafen &STeud
The primary and secondary hosts of Tape worm are respectively. .
a) mosquito and man (il) ggegndld smeold (B) (paGsrguiunn sausals gbssd
b) Man and housefly ‘ (iil) w@eureflwenr @meo  (C) UTETLipSEST WHBID LDEDUSST
c) Cattle and man (iv) syiBLnelfwer ameow (D) paisuamsuipfss Quihstend
d) Man and pig g w Y &) (1) B (ii) C (iii) D (iv) A &) (1) C (i) D (ii)) B (iv) A
. SpuGaEDDIST agl el BhpHMmbsIa STEmD ! ®) (i) D (ii) C (iii) B (iv) A #) (i) C (i) D (iii) A (iv) B
=) Gsnrﬂ%rrt#m . _ %) S5 o_Led s Qeraglil Match the following and find the correct answer
®) Qﬂ_lﬂ'LutD Curep pEME 2 LOHTEeNsH ) et @uésors o L (i) Tertiary period - (A) Age of fishes
LG. % (ii) Jurassic period - (B) Dominance of invertebrates
Which one of the following is not a cause for infertility? \ .
a) Varicocele b) High body fat (iii) Devonian period - (C)Mammals and birds
c) Ingestion of cadmium d) Tight cl othing in m (iv) Ordovician period - (D) Golden age of Reptiles i -
. i G S ‘ an 8) (i) B (i) C (i) D (iv) A b) () C (i) D (i) B (l\.) A
o) QIBG'I-DQGIMUM GarGanmfiGu - Agdr PG PTuTsd uTi ¢) ()D (i) C (i) B (iv) A d) (DC (i) D (i) A (iv) B
o) afiiumngget - B - He0elI6D aphe
®) HIV B GREEN GARDEN MATRIC. HR. SEC. SCHOOL
6d -
#) BamegLn Disvdmeer - BBu s Perundurai R.S.
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6. OLaNgemI s Gocdss gal s

10.

11.

12.

anpdEILGS BT .
a;r%% ﬁlﬁ;asf: Buned SramiupS e meT .
A uTSoy UL SnTeRILDTElaien.
Gumsd smeRTILGE GIme,

o) gOeallst oisaussT AlBEGS
&) glenefish Sienausel gubLuIfuiied Gu : o
®) aCeaicd Seeumen By GFIET @l_tﬂmf}mﬂl-gﬁ it
%) gomaiisy Simeaussit by Gscose GUTE QeFweLBEHIENDET
Why dendritic cells are called so?

a) Because they look like teeth of animals

b) Because they cause dent in the host body

c) Because they look like dendrites of nerve cells

d) Because they function like nerve cells. _ .
Spaumaaappe afs oiHs Sienaleoms a;sbaa@mrrs\') S giteng?
o) U o) guist @) sefeliiunst meps guisr  F) et
Which one of the followings contains maximum amount cltf alcohol?

a) Beer b) Wine c) Wine coders d) Gin

. Epaumeueaubmst S SEIB Gsese UHPL o @eUBp anEdub?

o) DaseT UADET OFedmsi
B) oausst WIEUTLMLWLTG BFsst F) DS rUnE  SIeNLbS (AL

Which one of the following is not true regarding stem cells?
a) They are totipotent cells b) They are pluripotent cells

d) They are differentiated cells.

B)) SIMUSBST (PSS GFe0Ssl

c) They are undifferentiated cells

Ufley — II/ Section —1II
gBas@mib BreiE elamsseEnsd el wellbosa.
Answer any four of the following.

4x2=8

tRNA —p, Bensansdds GEmeiEnh (peossap e gar Gib snpsaGnmb?
Why do we call tRNA as a adapter molecule?
mreE s wlofwrssmensd  GBIULLE,
SUuIGs.

Mention the four types malaria and their causative agents.

GulLredLrdled - euenyuIml.

Define metastasis.

Bprybalamen £ uiflng Srelldl e s GUBSHIHIN mareier Lkidemen I(DEID-
Write the role of viruses in biological control of pathogens.

Beven gupmIGUTHED aIEIBTEL 6Teien? £ e Qs

What is coextinction? Give an example

Cabagall UsssD 8 sumswren Fnnfamisaner 2_alem_d &g, Srubeny UL pWedBE-
Red list of Red Data book consists of eight categories of species. Mention them.

swupinerer  GpTuid  smyenilsamemu

Afley — III/ Section — IIT
gCpaib apsiip elemssEnde oLl subis e ogm.
ellent_wief & seyLD.
Answer any three of the following in which question No. 18 is compulsory.
unelen BeGUBESD, LTSS BLCUmESHMS il Guotbui gy dT"?
Why sexual method of reproduction is better than asexual Tcproduction??

3x3=9
186@ &LLmwwrs

198

16.

17.

18.

19.

20.

21.

- A

s imeneod CLrgfiun, sstdefsbgia OBLIUMLWET? 2 aigl aoLbe smamb SE6.
Is phenylketonuria related to albinism? Give reason for your answer.

ufieamosgdled WILgm QUL F&ILE @b aelsnownen (paeui. elaid@s. seusumm?

Gene flow can be a strong agent of evolution Explain how?

sLw spflelwsd msgusH0 PCR Ggmisop usms seaunm UURLBSSmD?

How can we utilize PCR technique in the field of forensic medicine?

Gpdunalsd, srfad urgetils Cueiiseaiar Ukg ubl Fm GH0Y A@HIS.

Write a brief note on the role of woman in conservation of forest in india.

Wfiey — IV / Section — IV 2%5=10
EpbeETEId lamssansg sl weissad.
Answer the following questions.
] i elbsesds o senamolmy slensga
LGS o galyLe albsshs e =
HGP — ule e uGursiss 0BEHD agitsrmg Fauteomen LDE aWEHS-
Explain the anatomy of testis with the help of a diagram
(or)
Write about the applications and future challenges of HGP.
¥ : 5 i eflsurdl
0 QuTEHLSEMET LISNIL|S6T -
=N (Die0e0g!) o ]
o Wigip  SMaEEnsHE gy, e uiflsel usBoum SNBSS (erBiedenen)

Geusban GHamear Sieubens alleures.
Discuss the properties of genetic material
(or)
Discuss the various responses of living organisms towards abiotic factors.
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wrHA eflempnsr 2019 - 20 / Model question paper 201 _dz 2(- -
GusoPens @renmb gys® / Higher Secondary Second Year
Biolo F
@ wHgD W’;ﬁ'ﬂﬁ a{ Tlmﬂi{ld English Vemfm) e
&6 Syemey : 15 B mmst + 3.00 wesfl Qurss WHUCLSIEs %
Time Allowed : 15 minutes + 3.00 hrs Mt M 70
oflsymysstt : 1. omeiss elambsepd sfursl udemnd o _elENBT  GTGAILIBENET E‘ﬂ“"ﬁﬁm
Careionoyd.  swsiugeles GopicLld oOps  SEIETEHILToR,
2 Lapunssd Csfalssan.
2 oo (sep) spiy owulos wlG80 aESNSHED SNECETYBHE,
LLSILGES GoumiGh, LLkiss umashe GUsFD LLSLGSSMD.
Check the question paper for faimess of printing. If there is any lack of fairnegs,
inform the Hall supervisor immediately.
2. Use Blue (or) Black ink to write and underline and pencil to draw diagrams,
ugd — I (e_uif-srapsiws), ugsd — I (e_uifl-alebaiue) Sefsmed
aflenSsreflsd efsnL wsildssab.
: Candidate should answer Part — I (Bio-Botany) & Part - II (Bio-Zoology) in
separate answer-books.

Instructions ; 1.

&y :

Note

uEd — I (e uifl-srapaiwsd) / Part — I (Bio-Botany)
(wHQuedssit : 35 [ Marks : 35)
Ufley — I/Section—1I
Silly : 1. SaISE alemTssEs@h alsnLwelssantb
CETBSBULCL BreiE eilesafs Wanb gHUmLL sl g CoHTE0SESE
GHW Gt el ulmenyd Caigg SI(DGEIE.
Answer all the questions

Chgose the most suitable answer from the given four alternatives and write the
option code and the corresponding answer

L 2_peend dipudls sansst s GHUULILGE
91) Caubnfi Guor Béesen o) Canewn Qo Gabssi
@) mel G Bassi F) BeLI G Owm Gesi
Eyes of potato are referred to
a) adventitious roots  b) axillary buds
2. LIUgM BEETEESBNG F.CsTanm o)
o) B aefged enswTensunid
<) Bl sLBUUTLIe GipBlmeoulsy eelgsh sueiT &g,
) 8z urmstiy Bés 2 uiflanb
F) Bemeu DimanGHID

8x1=8

[

Note :

—

¢) terminal buds d) intercalary buds

i =0 LWSTUBSSOLL G UGB BE, gOenaisd

E.Coli is the mostly used organism for gene cloning,
a) It is easy to handle.

b) It is growing easily under optimal condition
¢) It is the safe organism
d) All the above.

because

200

I

3, sabol (A) : ufammise, G\w&rd;@rﬁ

&Cenmeny® 2_seflulentsi : s g s
QFILILGBSIDS. 76 2 pelulensd Geigl Basn

smead (R) : peiguir gesn Gruasie, wihp BisiguiTast oibs susnir
susniteud HGESULGHDE.

@) (A) &fl; (R) saup

o) (A) sam; (R) &

@) (A) wigb (R) Bren@eo &f, geamsd (R) aeug (A)édsiarn alassons
SIENLOWATE0Em6D.

oM_&SH0

) (A) whpb (R) Srea@w &0 (R) asiug (A)-ésrar elassnns H0dDng.
This is the pattern of question
Assertion (A) : The explants are sterilized by mercuric chloride.

Reason (R) : Sterilization prevents the growth of other micro organisons in the Culture
medium.

a) (A) correct; (R) wrong

b) (A) wrong; (R) correct

¢) Both (A) and (R) are correct; but (R) is not the explanation to (A)
d) Both (A) and (R) are correct; (R) is the explanation of (A)

. spsmerssien, opfeiius spfieTasm, Lell Geuiiioen s@is@ ariust Brllou §®

s ouleunsemen HEHESDAT ASHEGS STIERID —
i‘n @ﬂﬂ?@g’ah&sa)&.&@m sandHsms@n B Buuwinst Foflensn UTHesluBsiagl.

&) srauhiss weaiedGhe! 2 Miehsd Qewsopenn UTHESILLBETTS.

@) ofSy gefulemmsd samss GEFLHLPDD urgdaliul Beiengl.

%) st Gl eeiugl el QalILLELENGEE S Hia] HE06. -

Now a days, scientists suggest carbon sequestration is a solution for global warming. The
reason is

a) The balance between photosynthesis and respiration is disturbed

b) The absorption process of plants from the soil is disturbed

¢) Due to high intensity of light respiration process is distur.bcd

d) Carbon sequestration is not the solution for global warming.

. @mieow Guiburd BB L SSHIeT &sCaeiame

i) SISO 6T la:'m‘sa?nmeo onppEHmss HEUUG! . .
&) v B QIMuBSsT QST EHIBHED GamfUiLiuGam® SHDUUS-
@) (o) wipd (&) . . .
) ehsny 2 puUSH LOB@EID DIHET QWQ.IB?G!)S‘“E @mmu L)
The objectives of clean development mechanism are / 1s

a) Prevention of dangerous climate change

b) Reduction of emission of green house gases.

c) Both (a) and (b) . _—

d) Reduction of electricity generation and its need.

g ulfl mevso?
i i i 0 eoplygena (N, Peeppssd s A
. iﬁ“ﬁgg‘;ﬁ%ﬁg;‘gf gmuag) [ng_mml_h ®) eﬂsnnsr‘htqimm ) pIeLT
Which one of the following is not & free living N, fixing :)rg;n;?un; i
a) Anabaena azollae b) Azotobacter ¢) Clos
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13.

- unfl el 2 SR afiCLT@ST (RpIme) SwLIAide S sl

7. (A) Gurmiems e @hEAwnele sus@D JHD
(B) Gurgiuts Ot @pHutellsd auenmd FHD.
9) (A)-saamp o . 0o
(B) — sasmmb unirGuM
) (A) - gssmb unirGufl
(B) - sésmmbd o1 sy
@) (A)-ssamb CasmursGLLD
(B) - sgangip oiBomBusk@RGurLib
F) (A)-s&smd &iBor GubEIGUTLD
(B) - sé&a&mmbd GsmuiaGLLb
(A) was originally grown in North India.
(B) was originally grown in South India.
a) (A)- Saccharum officinarum
(B) - Saccharum bareri
b) (A) - Saccharum bareri
(B) —Saccharum officinarum
¢) (A)— Saccharum coarctatum
(B) - Saccharum alopecuroidum
d) (A)- Saccharum alopecuroidum
(B) — Saccharum coarctatum
. BIODET s Difs oieTalsd udfiOU@D ghur Sreugib
o)) wisfamr’  esbEesILT &) LSBT EIOTTDIQBT
8) afellun GuelgmAwnenT F) anfagwr I8rdsdlisienilerd
The very common rubber yieldin g plant of tamilnadu is
a) Manihot esculenta b) Ficus elastica
¢) Hevea benthamiana d) Hevea brasiliensis
ifley — ion —
98suD Hreag dm&s@égmsﬂmilujgﬂ::g:ﬁ ! v
Answer any four of the following,
e CallLsbprarsSbeh Guest Bl s ESADGD Beo G o_giren
CoupiurGesit By swngenen SI{LDGIS.
Write any two difference between male gametophyte and female
WU AIDTULSMS GeUauTLY &L Lenoddsonn?
How to construct a gene map?

gametophyte

(PHIS. 2_giten Geugluiwenso

Write the chemistry of biological hydrogen production by algae
00 HTew] Gasvelsn GEsh sy asieungy Béseomn? I
How to remove cell wall of a plant cell?

wessaia 1WISEEIH aamTeh aeren?

What is known as tree line of a mountain?

202

14, cpanprid Geuenmem UIlAulsn Bl wing?

What is the plan of third Agricultural Revolution 2

o . Ufley ~ III/ Section - IIT I%3=9
9eHDUD W slenssass elowel ool elam aIs-185@ & Lnwuwns
elenLwefldseyib.

Answer any three of the following in which question No. 18 is compulsory.

15, UEGL SMe smaDIST B Gugb WA GRS BBEMET S(1GHIH
Write the three fusions of Angiospermous plant fertilization.

16. Bonew LGS afus 8T wjugsEsGm Haeuwn BLE CFussEybsTa
@ 2 _SIJewid elsueumm?
Codominance is an example of intragenic gene interaction How?

17. qpapsoiowren Uensmiiy g (peewwps Uesmin @aublibalaLGu 2 siem
BGaupiuTGEemsT &S
Write the differences between coupling and repulsion.

18. wemsownren Gevermert HfelmpE erampmsh esHen’
What is known as sustainable development of agriculture?

19. Buiems Casmaiemn asiLg BUbNEsGS HABLUSD TED SEUGDD BEba
QuigaETes s6ELLEHDE. BFoa almbcs.
Organic farming is considered as the movement towards the philosophy of Back to Nature.
Explain,

ifley — IV / Section — IV 2x5=10

Sposignid demssede elowsissad.
Answer the following questions.
2. 9B UsGD SrarsHs CQLISE ampEms sppdow on slmssiuIed HHS-
(S150605!) _ , .
SMMECET) HTULSSHHMmLmL S STASHEIET THAUTH USSDIUD” SIS
DG Fn COBIBENET  ET(PSHIS. _
Summarise the whole life cycle of an Angiosperm p
(on)
How to introduce herbicide tolerence capacity into a plant? Write 1Fs ad-vantages.
2l. @ GPwed weHLGHA0 GauliLbHenmsd gouUBD HTSBHSMEU upl SQHIS
(is060EH!)
G\pflsney WaxL somizseisy aeisesns UMNAL GpITaE WHEWD FHEONBIPTRADI.
@eUGsTETEHDPLILD o 2_GNembHIL s elnbSS.

lant in the form of schematic diagram.

Write about the influences of temperature in an ecosystem.
(or)

Pyramid of numbers can be upright and inverted. Explain it with an example each.
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ued — 11 (e uiflaisomdiue) ; part — 11 (Bio-Zoology)

(oPiGuessit : 35 / Marks : 35)

Jfiey — 1/ Section T 8x1=3g

By : 1. o@ass alambsabel shlenLweidassyLD . ) B
2. GeEIBsSILLL BreiE shoLssies BEa gy GIDLMULS Gg’"lﬁag.@g@
G GLer sfenLuismenuyn GFTHHI 610955
Note : 1. Answer all the questions

2. Choose the most suitable answer from the given four alternatives and write the

option code and the corresponding answer
L g6 sbudusss Uobs prag eeiosselo, A, B SB wigd O BI5S0uemasg,
srenliLGasmer. SiiLpCwsfs SiBSDUSLITSIE! giBamanLLl STSISIEUTS %&'E"@h;mm?

o PINPP g PO g PO PP

Four children of a couple have blood groups A,B AB and O. What could be the Genotype o
the parents? o

a) I'IA<PPB b) IO o) PPII°1° d) P

2. wefigafisr ufiamio eusmisdullar sfwman aufiens ag?

Si) Capmbef@— GamrBuor Gamiefierd —> BaprBuwr eméLeD
—* GannGuon FTiwesiter. )

&) GaprGuon Gamiedeo— GamiGr aysLa— Canmbeif
— GamnGuom  arlifwansr.

B) CaprCor ay&Led— GamtGin Gapisied — GanmAaf
— GamnGuwr Fmiwiemer. He ‘

%) GaorBior GapieSad —> GapmBeiG—> GamG s o o
— GamrBwr FmiTwerer. ST

Which ia the correct order of human evolution?

a) Hominid—"Homo habilis—Homo erectus—Homo sa iens.

b) Homo habilis —*Homo erectus—*Hominids —» Homop s

c) Homo erectus—Homo habilis — Hominids —* Hp i

d) Homo habilis—>Hominids—*Homo exctus — o
3. Bpepauaubmet ag subn Sesm?

o) Quiss grésalwngd - Qs d &

sapiens.
Homo sapiens.

&) ouburdlerd - @ w
@) sreom T o6 |y
#) wleoflwr gLen Qers

Which one of the following is not a correct pair?
a) African sleeping sickness - Tsetse fly
b) Amoebiasis

- House fly
c) Kala azar - Sand fly
d) Malaria - Aedes mosquits s
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4 GLged IS FTCUTRIETS S

T ) BT . i (_mmge‘s Sl SOLONHICOT  6nGUGH  6T6h 58560
35)11?”%21:;;3 Eagmglgigm,;ﬁﬁmm Uehmes smmasbsresd efedmba eiaugﬁgﬁm
&) UL GLILSCHTEIT LrsdiBlCeumyn

@) eufigGafwr gamrts

F) osnfleed Gsibustighern

To conFrol the growth of strangular vine in citrus crop, mycoherbicide is obtained from
a) Bacillus thuringiensis

b) Phytophthora palmivora
c) Pyricularia orizae
d) Agaricus campestris

. pBsrams e .Guna o BusHsE a.Carmaomwell stasawdet QaralAtu —

Apbed. SHDES smemb
o)) a.Bsrameuls aULTIGME STEEM] gHOD JMLWMASGD BUSGSD Blsvemav.

&) Fraasbrmawded GsralfiGw, rDNA o HusHEGS CpameuLieal BURIE SHNEHMBHH
LaresBeisngl.

B) WwanamE FissmIGLUBpL LW MeubESH CHMEULITE EUIRIGSETID
61.8smansouilsd Bsuenev.

#) Garlsmu FissmGuBpn sleLw masss Cemane QuiiGSD o.8smmauis
Bsvsms0.

Saccharomyces cerevisiae is more suitable for the production of recombinant interferons than

E.coli. The reason is
a) E.coli does not have machinery for glycosylation of starch.

b) Sachharomyces cerevisiac has machinery for the synthesis of IDNA.
¢) E.coli does not have machinery for glycosylation of proteins
d) E-coli does not have machinery for glycosylation of fats.

. SpaumIeTaUbEsT 5 Gmpeauiu GupurGanlw o uiflemd?

o)) mru o) ysd @) weise F) gemmed
Which is the stenotherms from the following?
a) Dog b) Tiger ¢) Human d) Lizard

. sp@ (A) : BhSuwn, 2 wagded o een 17 WaslGUfiu 2 uifw LISOsUENES S0

QaremiL HEIBH6s0 e
smeonb (R) : Sbdwralsr usl Seowiy o Wilamsense Haab ghpSHIS o sheng

o) (A) #f; (R) sop

) (A) gam; R) &

@) (A) wpgd ®R) & [R), A-saw allenéGEDSH!-

%) (A) wpg R) &0 R), A-mw elensseilsoameD.

Assertion (A) : India is one of the 17 Mega bio diversity countries of the world.
Reason (R) : India’s geographical location is most suitable for the organisms.
a) (A) Correct; (R) Wrong b) (A) Wrong; (R) Correct

¢) (A) and (R) correct and (R) explains (A)

d) (A) and (R) correct and (R) does not explain (A)
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8. &hp syeGOUE aan 200 — GHUOGNS
Bi) TFHG B HTHI
D) GOHS DiENe] NFEOL W STHEI )
®) Gurswrer seTHMES B5F elmaalbgl 10D
F) SRGHMmID 0THMLW STHD.
Air quality Index number 200 denotes
a) good, no pollution
¢) Bad, unhealthy pollution

b) Moderate, Jow level pollution.

d) Hazardous, pollution

Ufisy — 11/ Section—II

gea@Ib BTG alamssenie slmLwsfssab.
Answer any four of the following,

9. Y - enihg wrugmssst Heem sisvalsome Gevansame gei?
Y — linked genes are non homologous why?

10. g0 wugy - @ GETd Bam ut'aLd mps.
State one gene — one enzyme hypothesis

1. B8efl guGurg PET Opdifisst sipsepas WiEIUBSEID GUTHMES BGSETE ger?
Pet plastics are no more environmental hazardoxs substances. Why?

12. gefiggnesisd Buissh STEITDTED  eTedten?
What is known as photokinesis?

13. phemeseial Geaulil oiEsHmands STeRilis@h LLD sueam)s.
Draw the diagram showing thermal zones in cold water bodies

14. Bs o emay' L sHear asiarg & BUUGSGe0MD?
How can we control eutrophication?

Uifley — III/ Section — I 3x3=9
I8sD weim allamsserisd sl wel Siaubsd el aw-185@ L LmuwTs
allsL weflésayb,
Answer any three of the following in which question No.18 is compulsory.
15, oubunellsd B Qupd Uedeney WepEGH  edBLTT 2 BANSED wopsGh Sl Bu
2_eiten CoupinBaemen a(10EIS.
Write the differences between multiple fission and sporulation in Amoeba
16. uefié@Ls gty esisumg Qeulwtu@ames?
How to do amniocentesis?
17. s e pugduisr QuMPUWITSSED Ba|palle Gurg BEL GLmID WemmDd Penevsniiy Ui
RUC L
Write about the third phase of translation in protein synthesis,
18. wefig eenitdd apmBuoren o BugHular L f oo g
& i | 2 lbupg m';ﬂmeumm DNEGD L Ghamen susnye.
ive schematic representation for the production of humap growth horm
5 e Satt ; , one.
19. Abmlens usteenasseienioulsr AP HIDFNISE 6T 17517 ey e
Write about the three indices of species diversity, I

206

. . . dfley — IV / Section - IV 2%5=10
Spsenagln alamsaenhes allemL el aeyib.
Answer the following questions.

wafigalls)  BLOUDID  SGoUpiged LH@D  eumiE® Umsse Gswssmen S(HHBLUN
aaTTE(SHb.
(SfeOeVGI)
SNBECrwsd  sai_fnedsh, Grea oFdled Camnfsdplusder  LweELNG ST
Buwenggl. alansgs asisumgy?
Briefly explain the mechanism of fertilization and implantation in human beings.
(or)
Fingerprinting technique is inevitable in the detection of criminal activities Explain how?
BuBmas BGsiey Gsm_utiyemen siamégn shsTsHL saBlylysmen aleTodgd.
(Sisbe0gI)
UG e @y  CrrlsseLé sy aumssmanyb  See  Gawetul
(peomsmemyd alleura).
Explain the modem synthetic theory of natural selection
(or)
Discuss the various types of innate immunity and their functioning mechanisms.

' @aiwanisanLdr, MAMPHLBEL,
- paimaeS S il
-' 9677558960 -

————
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